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BEFORE THE WASHI NGTON

UTI LI TIES AND TRANSPORTATI ON COWM SSI ON

)
In The Matter of the Review of ) UT-023003

Unbundl ed Loop and Switching Rates ) Volunme Xl
And Revi ew of the Deaveraged Zone ) Pages 602-800
Rate Structure. )

)

A hearing in the above-entitled matter
was held at 9:32 a.m on Thursday, My 27, 2004, at
1300 South Evergreen Park Drive, Southwest, O ynpia,
Washi ngton, before Adm nistrative Law Judge THEODORA
MACE, CHAI RWOVAN MARI LYN SHOMLTER, COWM SSI ONER

Rl CHARD HEMSTAD, and COWM SSI ONER PATRI CK OSHI E.

The parties present were as follows:

COW SSI ON STAFF, by Shannon E. Smith,
Assi stant Attorney General, 1400 S. Evergreen Park
Drive, S.W, P.O Box 40128, O ynpia, Washington,
98504- 1028.

COVAD COVMUNI CATI ONS COVPANY, by Karen
Frame, Senior Counsel, 7901 Lowy Boul evard, Denver,
Col orado 80230.

VERI ZON NORTHWEST, by Cat heri ne Kane
Roni s, Brad Berry, Polly Smothergill, Attorneys at
Law, Wl nmer, Cutler & Pickering, 2445 M Street N W,
Washi ngton, D.C. 20037-1420.
Barbara L. Nel son, CCR

Court Reporter
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NORTHWEST, INC., by Gregory J. Kopta, Attorney at
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JUDGE MACE: Let's be back on the record in
Docket Nunmber UT-023003. When we adj ourned yesterday
evening, | believe, M. Kopta, you were crossing Dr.
Vander Wi de?

MR. KOPTA: That's correct.

JUDGE MACE: And you continue to have
cross-exanination for this norning?

MR. KOPTA: | do. Thank you, Your Honor.

CROSS- EXAMI NATI1 ON (CONTINU NG
BY MR KOPTA:

Q Good norning, Dr. Vander Wi de.

A Good nor ni ng.

Q Wul d you agree with ne that, according to
the FCC s | atest pronouncenents, the cost of capital,
when conputing UNE prices, is intended to reflect the
cost of capital of a telecomunications carrier that
operates in a market of facilities-based conpetition?

A Yes, | woul d.

Q Okay. In your conputations, both your cost
of debt and your cost of equity reflect the risk of
t he average conpetitive industrial conpany; isn't
that correct?

A That's correct with regard to the cost of

equity. It's not correct with regard to the cost of
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debt. The cost of debt that | used was the yield to
maturity on Moody's A-rated industrial bonds, and the
t el ecomruni cati ons conpani es are consi dered
i ndustrials at this point, and so | believe that it
is a conservative indicator of the costs that they
would incur if they were to issue debt to finance the
facilities required to provide the tel econmunicati ons
servi ces.

Q And as you nentioned, the S&P 500 incl udes

several tel ecommunications carriers, does it not?

A Yes.
Q Do you include any of themin your sanple?
A I have done two calculations. One is a

cal culation of the DCF for the entire S&P

i ndustrials, and another is a calculation for the
mddle two quartiles of the S&P industrials. The
results for the entire S&P industrials, which the

t el econmuni cati ons conpani es are included, are higher
than the results for the mddle two quartiles. |
chose conservatively to look at -- to base ny
recomendati on on the results of the mddle two
quartiles, because it's very difficult to estimate
the cost of equity, and for conpanies that are in the
hi ghest quartile or the |lowest quartile, it could

easily be that the assunptions of the DCF nodel don't
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apply real well, and at any rate, we know that they
are outlier results.

So | feel that it's better to use a | arge
sanpl e of conpanies that are in the mddle range of
conpanies, and it turns out that the several -- there
are only several tel ecommunications conpani es that
are in the S&P industrials, and those turn out to be
outliers.

Q So in the sanple that you use, there are no
t el ecomruni cati ons conpani es?

MR, BERRY: |'m going to object, Your Honor
I think that's been asked and answer ed.

JUDGE MACE: Well, M. Kopta.

MR, KOPTA: It was a rather |ong answer, but
I'"mnot sure | got a yes or no.

JUDGE MACE: Well, and |I'm not clear
either. It sounded to nme |ike you used the mddle
two quartiles, but you never really said that there
were no tel ecommuni cations conpanies in that mddle
two quartiles, and | would be interested in hearing
the answer to that and al so where the
t el ecomruni cati ons conpani es were that were in the
first and fourth quartiles.

THE W TNESS: Ckay.

CHAI RWOVAN SHOWALTER: If | could interrupt,
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I'"mnot clear if this exchange is about debt or
equity, so can you just nmke that clear?

THE WTNESS: Yes, |'d be happy to. It's
about equity.

CHAI RWOVAN SHOWALTER:  Okay.

THE W TNESS: The debt that | used was the
yield for maturity on A-rated industrial bonds, and
the tel ecomuni cations conpanies are -- right now
have a low A rating, and they've been put on credit
watch for a reduction in credit rating. So it's
likely they will be below an A rating, and they are
i ndustrial conpanies. So that would certainly apply
tothe -- it would be a conservative estimate of the
cost of debt for the tel ecomunicati ons conpani es.

Wth regard to the cost of equity, | applied
the DCF to all of the conpanies, so | guess | was
confused by the use of the word used. | used all of
the S&P Industrials, and indeed ny results -- |
observed that the results of the DCF applied to al
of the S&P Industrials was higher than the results of
the DCF applied to the mddle two quartiles. And
suggested that any cost of equity nodel, be it the
DCF or the CAPM is only a nodel. It's an
approxi mation.

And so | felt that conpanies that were on
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the high or the Iow end of those results, the DCF
didn't really provide a good indication of what those
conmpani es' cost of equity was.

JUDGE MACE: Right, and | understand that.

I guess |I'm concerned about what was in the middle
two quartiles, which | don't think you -- whether
they were tel econmuni cati ons conpani es.

THE W TNESS: There were no
t el ecomruni cati ons conpanies, to the best of ny
recall, in the mddle two quartiles.

JUDGE MACE: And in the first, first or the
hi ghest quartile, | assunme that's what you nmeant by
the first quartile?

THE W TNESS: They were in the | owest
quartile.

JUDGE MACE: They were the | owest, okay.
Thank you. That answers nmy question

THE W TNESS: Ckay.

Q Well, just to follow up on that answer,
aren't Verizon and SBC in the top quartile, the first
quartile?

A They're in the fourth quartile.

Q Whi ch is the highest or the | owest?

A Those are the lowest. DCF results, which

as |'ve indicated, | don't believe indicated the cost
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of equity for those conpani es, because they're
outliers.

Q Okay. The list of companies that are in the
mddle two quartiles is included in Exhibit 102,
which is your Exhibit JHV-2; is that correct?

A That's correct.

Q And anong those conpani es are Avon. Do you

know what busi ness Avon is in?

A Yes, they are a cosnetic conpany.

Q And Anheuser Busch?

A They sell beer.

Q There are al so conpani es that are what |

would refer to as retailers, that just sell products,
they don't nmke any products, such as Wal -Mart?

A Yes.

Q And do you believe that those conpanies are
a close proxy to what Verizon's cost of capital would
be?

A. | undoubtedly think that the average of the
whol e group is, not any individual conpany, but the
cost -- the cost of equity, as nmeasured by either the
DCF or the CAPM doesn't -- is the return expected on
conpani es of conparable risk, not conpanies in the
same industry.

For instance, in the Virginia Arbitration
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Order, the Wreline Conpetition Bureau used a beta of
one in their calculation of the cost of equity, and a
beta of one is tantamunt to using the S&P

I ndustrials as a proxy group, because the S&P

I ndustrials -- ny sanple of conpanies, actually,
because they're in the mddle two quartiles, have a
beta that's slightly I ess than one. So using a beta
of one in the capital asset pricing nmodel is the sane
thing as using the S&P Industrials as a proxy for the
cost of equity for the tel ecomuni cati ons conpani es.

I ndeed, the capital asset pricing nodel nmeasures risk
by beta, not by industry grouping.

Q ' mgoing to change subjects for a moment.
You have cal cul ated your cost of equity using a
si ngl e-stage di scounted cash fl ow nodel, or DCF, we
have been tal ki ng about; correct?

A. Yes.

Q Am | correct that a single-stage DCF nodel
uses the sane earnings growth and assunes the sanme in
perpetuity?

A Yes.

Q If you would, please, turn to page 65 of
your rebuttal testinmony, which is Exhibit 106-TC, and
specifically I'"'mreferring to the sentence that

begins on line eight. Actually, sentences. Really,
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1 the rest of that whole answer on that page. And you
2 have an equation there that |'m not going to repeat,
3 but is that the equation that you used to devel op the
4 cost of equity?
5 A. The actual equation that | used is very
6 close to that equation and can be put into that form
7 but the equation | used is shown in ny -- in the
8 notes to the exhibit that we were just |ooking at
9 that shows the S&P Industrials in nmy direct
10 testi nony, and that equation recognizes that --
11 JUDGE MACE: Can you refer us to the exact
12 pl ace where it is so that we can look at it, too?
13 THE WTNESS: Yes. It's in Exhibit Nunber
14 101, JHV-2, which are the | ast several pages.
15 JUDGE MACE: So it's in -- actually in what
16 we've marked it as Exhibit 102.
17 THE WTNESS: GCh, |I'msorry.
18 JUDGE MACE: That's all right. It's on --
19 did you say the | ast page of that exhibit or --
20 THE WTNESS: It's three of the last four
21 pages. Not the |last page, but the three pages
22 preceding the | ast page. And so then the equation
23 woul d be on the second to the | ast page.
24 CHAIl R\OMAN SHOWALTER: Wl | --

25 JUDGE MACE: So I'mquite --
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CHAIl RWOMAN SHOWALTER: What does the top of
the page say? Does it say -- | think it nust be page
three of Exhibit 102, because there's a conplicated
formul a there.

THE W TNESS: Yes.

CHAl R\OMAN SHOWALTER:  Okay.

Q So what is the difference between the
formul a that you have on page 65 of Exhibit 106-TC
and on the |ast page of Exhibit 1027

A. It's only a minor difference in terns of the
cost of equity, but the -- but, theoretically, it's
nore correct in that it recognizes that dividends are

paid quarterly, rather than just once at the end of

the year.
Q Okay.
A But the results are within 10 basis points

of what you would get if you assunmed that dividends
were paid just at the end of the year.

Q Okay. And this equation essentially has two
parts, a dividend yield component and the growth
conmponent; is that correct?

A Yes.

Q Wul d you agree that, in the one-stage DCF
nodel , the nodel is highly responsive to changes in

the growt h conponent of the nodel ?
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A Yes.

Q And is it correct that the dividend yield
conmponent of the DCF is based on current market
i nformati on?

A. Pretty close. The dividend that's used is
actually the expected next period dividend, so you
take the current dividend and you multiply it by one
plus the gromh rate, but certainly the current
di vidend and the price are based on current
i nf ormati on.

Q Now, the growth rate that you used was based
on forecasts conpiled by IBES; is that correct?

A Yes.

Q And | BES growth rates represent the
consensus or nean forecast produced by analysts from
the research departnents of |eading Wall Street and
regi onal brokerage firms over the preceding three
months; is that correct?

A Yes.

Q So essentially it's a collection of
anal ysts' forecasts, the Wall Street anal ysts'
forecasts?

A Yes.

Q And you' ve characterized these estimtes as

long-term is that correct?



0616

1 A. They are five-year gromh rates, but the

2 anal ysts characterized themas long-termgrowh

3 rates. That's as far out as they feel it's really

4 possible to | ook

5 Q Just to clarify, since there is sone

6 di scussion in the testinony about one-stage versus

7 two or three-stage DCF, | just wanted to clarify

8 that, by way of exanple, a two-stage DCF nodel would
9 have one growth rate for a period of time and then
10 change to a different growmh rate; is that correct?
11 A Yes.

12 Q And so by anal ogy, a three-step or

13 t hree-stage DCF woul d have three different growh

14 rates at different points in tine?

15 A. Yes, and since really growth can only be --
16 as far as the anal ysts are concerned, five years is a
17 I ong period of time. The second and third stages

18 woul d be even nore difficult, in fact, virtually

19 i mpossi ble to forecast.

20 Q Would you turn to Exhibit 1207

21 A Which is?

22 Q Whi ch is an excerpt of your prior testinmony

23 in FCC CC Docket Nunber 98-1667
24 A Do you have a copy of that?

25 JUDGE MACE: | think you or your counse
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shoul d have a copy of it. [It's an AT&T cross
exhi bit.

MR. BERRY: We do

THE WTNESS: | might have left it in ny
bri ef case.

JUDGE MACE: All right. Let's take a nonent
and nmake sure you have a copy. It says on the cover

page Exhibit 8, but it's our Exhibit 120.

THE WTNESS: | don't have exhibit nunbers
on mne, but -- okay. Thank you. Yes, |'mready.
Q Okay. Do you recognize this as a portion of

testimony that you provided to the FCCin this
docket ?

A Yes. And not in this docket, in Docket

98- 166.

Q I"'msorry, yes, | understand. | neant -- by
this docket, | meant the docket |isted on the
docunent .

A. Al right.

Q And | wanted to draw your attention to the
colum [ abel ed I BES Mean Growt h, which is the second
fromthe end.

A Yes.

Q Woul d you agree, just |ooking at all of

t hose nunbers in that columm, that npbst of the
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conpanies listed had a forecasted earni ngs growth
rate of greater than 10 percent at the tine that this
exhi bit was conpil ed?

A Yes.

Q Wul d you accept, subject to check, that the
average growh rate of these conpanies is 12.51
percent ?

A Yes, | woul d.

Q Now, | hate to do this to you, but 1'd like
you to look at Exhibit 121, which is an excerpt from
S&P's 2003 Anal yst Handbook.

A Yes.

Q Are you familiar with the Standard and
Poor' s Anal yst Handbook?

A. | don't use it regularly, but | amfamliar
with it.

Q And is it your understanding that the
handbook tracks the actual earnings of the S&P
I ndustrials over tinme?

A Yes.

Q Now, if you would turn to the second page of
this exhibit, and ny apol ogies for the very snall
nunmbers, but what | would like you to | ook at, down
the left-hand columm is the year?

A Yes.
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Q The far left-hand colum as you | ook at this
exhibit. And if you count over ten columms, you'l
see the heading Diluted Earnings, and the tenth
colum is Per Share. Do you see that colum?

A Yes.

Q Okay. And if you |look down to 1998, which
was the year of the information that you had in
Exhi bit 121, and then follow that across to the
col um of diluted earnings per share, you see $40.79.
I's that correct?

A Yes.

Q So at the time that | BES was estimating
average earnings growth of around 12.51 percent for
the S&P Industrials, S&P reports that the earnings

per share on the conposite was $40.79; is that

correct?
A That is correct.
Q Okay. If we assune a 12.1 percent growth

rate on this $40.79 earnings per share in 1998, then,
by the end of the year 2002, would you accept,

subj ect to check, that the earnings per share would

be $65. 367
A Yes, | woul d.
Q Now, if you would, go down to the bottom of

that columm, the colum being the Diluted Earnings
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Per Share, and | ook at year 2002.

A Yes, those earnings are very significantly
| ess than that nunber, because this was a
recessionary period in '01 and '02. And in addition
it doesn't really matter what earnings actually are
after the fact in ternms of the cost of equity; it
matters what they are forecasted to be. Actua
earni ngs are sonetimes hi gher than forecast and
sonmetinmes they're | ower than forecast, but what's
important is that these are the earnings growth rates
that are expected by investors, and ny studies have
i ndicated that the |IBES forecasts are the growh
rates that investors use when they nmake stock buy and
sel | deci sions.

You coul d pick any period of tine, and
sometines their earnings, as | say, would be |ess
than the forecast and sonetinmes they would be greater
than the forecast, but that's immterial as far as
the cost of equity, because it's always
f orwar d- | ooki ng.

Q But you would agree that it puts a prem um
on the accuracy of the forecast that you' re relying
on, doesn't it?

A It -- what's required is that these are the

growth rates that investors use when they make stock
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buy and sell decisions. And ny studies indicate that
the I BES growth rates are the growth rates that

i nvestors use when they make stock buy and sel
deci si ons.

Q Wel |, there have been -- are you aware of
news reports recently about problens with anal ysts
and the extent to which their forecasts are accurate
because of conflicts of interest?

A There certainly were a few problems in the
-- following the collapse of the stock market in 2001
and 2002. There have been mmjor steps that have been
taken to penalize the few anal ysts who had a conflict
of interest, indeed, nost of those have not only | ost
their jobs but have had to pay a financial penalty,
and sone of them have -- still have the possibility
of being convicted of fraud.

So it seens to nme that the response has been
very quick and very strong to those few anal ysts who
had a conflict of interest, and | believe that the
evidence is that investors still use anal yst
forecasts in making stock buy and sell decisions.

Q But woul dn't you expect that the natura
reaction would be to take those forecasts with a
grain of salt?

A Not at all. The question is what is --
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first, the question is how wi despread was the
conflict -- were the conflicts of interest, and the
second question is were any actions taken to penalize
those people who did have a conflict of interest, and
third, the question is do stock investors actually
use the analysts in making stock buy and sel

deci sions, and the evidence is that they still do.

Q And what evidence are you referring to?

A I"mreferring to studies that | have done
which relate different kinds of growh forecasts to
stock prices and see which growmh forecasts are
statistically related to stock prices, as nmeasured by
price earnings ratios.

And | have conpared anal ysts' growth rates
in a single-stage DCF nobdel and | have conpared that
to two-stage growh rates and three-stage growth
rates, and found that the single-stage growh rates
usi ng the analyst's forecasts are very
hi ghly-correlated with stock prices. And in
addition, they give the intuitively appealing result
t hat compani es with higher risk have hi gher DCF
results, whereas if you use a two-stage or a
t hree- st age DCF nodel and, hence, a two or
three-stage growmh rate, you get virtually no

correlation with stock prices and, furthernore, you
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1 get the entirely unintuitive, indeed I would say

2 incorrect result that conpani es that have higher risk
3 have | ower DCF results and conpanies with | ower risk
4 have hi gher DCF results, which to me is -- and these
5 studi es were done subsequent to the years '01 and

6 '02, which is very strong evidence that it's the

7 anal ysts' growh rates in a single-stage result that
8 are strongly -- that are used to make buy and sel

9 deci sions. Those are the ones that are correlated
10 with stock prices.

11 Q Woul d you turn in your rebuttal testinony,
12 Exhi bit 106-TC, to page 57, and specifically the

13 question and answer that begin on |line 15?

14 A Yes.

15 Q And | believe, at this point in your

16 testinmony, you're criticizing Dr. Selwn's use of

17 AT&T Wreless, Sprint PCS and Nextel, saying that

18 they're not representative of the risk that Verizon

19 Wreless faces. |Is that correct?
20 A Yes, it is.
21 Q And t he sentence begi nning on line 20

22 states, Furthernore, Verizon's wireless business is
23 much larger than that of AT&T Wrel ess, Nextel and
24 Sprint PCS, and Verizon is able to diversify sone of

25 the risks of offering wireless service by offering
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both wireless and wireline service at the sane tine,
whereas Dr. Selwn's, quote, conparables, close quote
are not able to diversify in that manner. Did | read
t hat accuratel y?

A. Yes, you did.

Q Okay. So am | correct in understandi ng that
sentence in -- to nean that a |arger conpany woul d
have |l ess risk than a smaller conpany?

A No, you would not. This sentence is
specifically referring to the wireless industry, in
which -- which is a national industry, and it's very
important in the wireless industry to be able to nake
calls over the same conpany's network so that you
don't incur roam ng charges, and especially since it
is for people who are nmobile and who travel, you want
those people to be able to make calls anywhere they
travel using the same conpany or the sane network

That's entirely different than for the | ocal
exchange business, which is a |ocal market. And you
don't have the issue of roam ng charges and you don't
-- it's not a national market; it's a market for
local calls. And there aren't any particul ar
advant ages, that | know of, frombeing large in the
| ocal market as there are in the wirel ess market.

Q Okay. You also criticize Dr. Selwn for
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1 i ncluding Qvest in doing his analysis of the cost of
2 equity and capital structure; is that correct?

3 A Yes.

4 Q And | believe you characterize Qunest as

5 hi ghly | everaged; is that correct?

6 A. Yes, they are highly | everaged.

7 Q And do | understand the term | everaged

8 correctly to nmean that it's the degree to which a

9 firmis debt-financed, as opposed to equity-financed?
10 A Yes.

11 Q And a firm s |leverage increases its risk; is

12 that correct?

13 A Yes, it does, its financial risk.

14 Q Ckay. If you would, please, turn to Exhibit
15 124.

16 A Whi ch is?

17 Q VWich is several Value Line -- primarily

18 several Value Line --

19 JUDGE MACE: It's also marked on the cover
20 page Exhibit 12. It's one of AT&T's cross exhibits,
21 Estimating the Beta for Post-nmerger Qwest and Val ue
22 Li ne Source Material .

23 THE W TNESS: Yes.

24 Q Okay. And if you would, please, turn to

25 page seven of that exhibit, which should be the My
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2000 Val ue Line Report, Pre-nmerger Qwest?

A Yes.
Q Okay. 1'mgoing to focus in the upper
| eft-hand corner, and again, | apol ogize not only for

the small type, but the bleed-through when it was
copi ed.

CHAI RWOVAN SHOWALTER:  Counsel , can you --
there's a date in the bottomright-hand corner, but
it doesn't show up on -- it's May of sone year

MR, KOPTA: Right, and that's why | said My
2000.

CHAl RMOVAN SHOWALTER: ©Oh, you did. Thank
you.

MR, KOPTA: I'msorry. 1'll apologize again
for having it be a little nuddy, but it is May of
2000.

CHAI RWOVAN SHOWALTER:  Thanks.

Q If you look in the upper left-hand corner in
the first box, under Qaest Commrunications
International, that last figure is a beta of 1.7; is
that correct?

A Yes, it is.

Q Now, | want you, if you would, to go down to
the box | abeled Capital Structure. |It's the sixth

box on the | eft-hand side.
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A Yes.

Q And the first entry, and it is alittle bit
difficult to read, but would you accept that it is --
that the figure is for total debt, and it is for
$2.3697 billion?

A. Yes, and just for the record to be clear, it
says, right above that, that's for the date 12/31/99.
Q Correct. And down at the very bottom of
that box, there's a figure for market cap of 33.1

billion?

A Yes.

Q Okay. And a beta of 1.7 is fairly high

isn't it?

Q And woul d you expect that that is associated
with the business operations of Qwmest Comrunications
International, as opposed to its financial |everage
based on these figures?

A. I'"'m not sure what you nean. | don't
understand the question.

Q Well, if you have a market cap of 33.1
billion debt of 2.3 billion, would you characterize
that as a highly-Ileveraged conpany?

A As of this date, they were not as highly

| everaged, no.
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1 Q So the beta --
2 JUDGE MACE: And this date, you nean the

3 date on the page?

4 THE W TNESS: 12/ 31/99.
5 JUDGE MACE: Thank you.
6 Q So then, the high beta of 1.7 is probably

7 based on factors other than their |everage; correct?
8 A Vell, it's based on all factors, but the

9 dom nant factor was probably their business

10 operations, which was building a nationw de

11 fiberoptic network in a period where there was

12 begi nning to be excess capacity for fiber-optics

13 nati onw de.

14 Q Ckay. Now, if you would turn the page to

15 page eight, and this one, thankfully, is a little

16 clearer. |If you | ook down at the bottomright-hand
17 corner, you'll see July 6th, 2001. Now, again, let's
18 | ook at those same figures. The beta, which is in

19 t he upper |eft-hand corner, 1.55?

20 A Yes.

21 Q Again, going to the capital structure box,
22 total debt of $21.779 billion?

23 A Yes.

24 Q And a market cap of $50 billion?

25 A Yes.
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Q Woul d you characterize Qnest at this point
in time as being highly |everaged?

A More highly than before, but not nearly as
highly leveraged as it is today.

Q Ckay. So would you agree that the | everage
that Qwest had at this point in tine was probably a
nore significant factor in its 1.55 beta than the
prior exanple that we were | ooking at?

A I would agree with that, but |I would also
put in the qualifier that betas are neasured with --
fromfive years of historical stock price data. They
don't reflect risk as of this point in tine, unless
t hi ngs have stayed the sanme over the |ast five years.
And so one has to be very careful draw ng concl usions
about the effect of individual variables that m ght
have changed the beta when, in fact, betas are based
on five years of history.

So there's -- a particular change in a
variable is going to have very little effect on the
beta for quite sone period of tine.

Q Is it your understanding that the anount of
debt that Qwmest took on in a very short period of
time was to finance its acquisition of US West?

A I don't know exactly what caused its |arge

i ncrease in debt, whether it was to finance this



0630

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

acquisition of US West or whether it was to finance
its large investnent in a nationw de fiberoptic
network. | do know that the | everage that has
occurred for Qnest didn't result by just adding
additi onal debt, but it -- at |east on the data that
you have, it did, but subsequently it arose because
of the very dramatic decline in its stock price as
i nformati on becanme avail abl e about accounting
probl ems and excess capacity, so that its equity went
from$50 billion to about $4 or $5 billion, which
woul d indicate an increase in |leverage, even if its
debt stayed the sane, just because its equity
virtually col |l apsed.

Q But there was a nerger between Qwmest and US

West that resulted in the conpany that we know as

Quest today?
A. Yes.
Q Okay. And simlarly, there was a nerger

between Bell Atlantic, Nynex and GIE that resulted in
the conpany we know as Verizon today?

A Yes.

Q And simlarly, there was nergers between
SBC, PacTel and Ameritech?

A Yes.

Q Now, are you aware of whether SBC and
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Verizon maintained in support of their respective
mer ger applications that they woul d each achieve
signi ficant benefits from becom ng so rmuch | arger
than if they continued to operate as separate smaller
conpani es?

MR, BERRY: (Objection to the formof the
gquestion. He refers to nerger applications. It's
not cl ear whether he's tal king about applications
filed with the FCC for |icense transfers,
applications filed before the states. [It's just not
cl ear what he's tal king about.

JUDGE MACE: M. Kopt a.

MR, KOPTA: | would take any of those,
whet her it's applications -- |I'massum ng that they
were consistent in their representations to the state
conmi ssions and to the FCC, so --

JUDGE MACE: And you're referring to the
mergers that you referred to in your earlier
qguestion?

MR, KOPTA: | am

JUDGE MACE: Thank you. That will be all
right.

THE WTNESS: | haven't read, nor am|
famliar with their nerger filings, and am not aware

of what representations they made as part of those
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filings.

CHAl RWOVAN SHOWALTER: Be sure to use the
nm crophone.

MR. KOPTA: Thank you, Dr. VanderWeide. |
have no nore questions for you, I"msure you'll be
glad to know. But this tine | renenbered to nove for
the adm ssion of Exhibits 110 through, | suppose,
127.

JUDGE MACE: And | think | referred to 127
earlier as the Verizon Virginia Arbitration O der
that's been marked as 127. |Is there any objection to
the adm ssion of those proposed exhibits?

MR. BERRY: No objection from Verizon, Your
Honor .

JUDGE MACE: |'Il admit them Thank you.

MR, KOPTA: Thank you, Dr. Vander Wi de.

THE W TNESS: Thank you.

JUDGE MACE: Now, Staff does have sone
cross-exani nation of Dr. VanderWide, as well?

MS. SMTH. Yes. Thank you, Your Honor.

CROSS-EXAMI NATI ON
BY MS. SM TH:
Q Good norning, Dr. Vander Wi de.

A Good norni ng.
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1 Q Do you know what Verizon Northwest's current

2 capital structure is, the actual capital structure?

3 A On a book val ue basis?
4 Q Sur e.
5 A. Wel |, yes. Their book value capita

6 structure | believe contains about 63 percent equity

7 and 37 percent debt, although | don't have the exact

8 nunbers with ne.

9 Q Did you exami ne that current capita

10 structure as part of your cost of capital analysis in
11 this docket?

12 A No, because the TELRIC standard, as

13 enunci ated by the FCC, is that UNE rates nust be

14 based on forward-1ooking econom c costs, not

15 accounting or historical costs. Verizon Northwest's

16 book value capital structure is undoubtedly based --

17 i s undoubtedly an accounting cost, which is, by

18 necessity, based on historical cost.

19 So book val ue capital structures are not

20 appropriate for use in TELRI C because they violate

21 the principle that TELRIC rates nust be based on

22 f orwar d- | ooki ng econom ¢ costs, not accounting costs.
23 Q In your view, are there any circunstances in
24 whi ch the book capital structure would be considered

25 f orwar d- | ooki ng?
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A. No. Again, the book value capital structure
reflects the book val ue of the conpany's assets that,
because liabilities, plus equity, have to be equal to
t he value of assets, and the book val ue of assets
represents their original purchase price, nnus
hi storical depreciation. |In addition, the equity
conponent of the book value is equal to the conpany's
retained earnings in all prior years sumed up, plus
the historical anpunts of equity that they received
in all previous years, and the retai ned earnings were
based on the historical costs of their operations.

Q And Dr. Vander Wi de, you talk in your
testimony that the cost of capital nust be estimated
under the assunption that the incunbent conpany, in
this case, Verizon, faces full facilities-based
conpetition. Does the VZ Cost nmodel used in this
proceedi ng refl ect that assunption, that Verizon
operates under full facilities-based conpetition?

A. I'"'m not the conpany's expert on the VZ Cost
nodel, but | have heard conpany w tnesses in other
states say that it is based on the assunption of
conpetition. But, again, |I'mnot the expert on the
VZ Cost nodel .

Q So for purposes of this proceeding, you

woul d prefer that we defer that question to the VZ
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Cost nodel panel ?

A Yes.

Q Now, again, in your rebuttal testinony,
whi ch has been marked in this proceeding as Exhibit
106-TC, on page 74 of that testinony, on |line one,
you say that the ampunts shown on Verizon Northwest's
books necessarily reflect accounting and historica
costs. And ny question for you on that is what do
you nean by the term amounts? Do you nean the doll ar
val ue of debt and equity, the relative percentage of
debt and equity, or sonething else?

A I nean the dollar values of debt and equity
reflect historical costs and, because the dollar
val ues reflect historical costs, then the ratios
woul d al so reflect historical costs.

Q And a few pages over, at page 77, at lines
ei ght through essentially 13, and again this norning,
in your answer to questions from M. Kopta, you talk
about Verizon and its subsidiaries being placed on
credit watch with negative inplications. Wuld you
agree that sonetinmes conpanies are placed on credit
watch with either negative or positive inplications,
but no action actually is taken by the rating
agenci es?

A Yes. No action would be taken if the
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1 conpany is able to reverse the risk factors that were
2 -- that put themon credit watch, but it is

3 undoubtedly true that their costs of debt and equity
4 go up when they're placed on credit watch, with

5 negative inplications.

6 Q And on that same page, the question

7 begi nning on line 14 in your answer that concludes on
8 line 23, you talk about the key financial ratios that
9 you anal yzed in support of Verizon's request for

10 interimrate relief inthis state, and you reference
11 your conclusion that Verizon Northwest would have a
12 bond rating of, | think, BB, you said, for its

13 intrastate operations. And would you agree that

14 St andard and Poor's only nakes bond ratings on a

15 total conpany basis?

16 A Yes, | woul d.

17 Q And is it correct that the nunerators you
18 used in your ratios are restated numbers that

19 Verizon's accounting wi tnesses have provided in that
20 docket, in the interimrate case docket?

21 A The nunber for the 12 nonths ending

22 Sept enber 2003 were based on restated or

23 forward-| ooking results, but the nunbers for the

24 prior years were based on results as reported to the

25 Commi ssi on.
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M5. SMTH:. Thank you. That's all the cross
we have.

JUDGE MACE: | wanted to do one little
housekeepi ng thing here, and that is, M. Kopta, you
of fered your cross exhibits for adm ssion and, based
on our earlier discussion about Nunmber 114, which is
Verizon's response to AT&T Di scovery Request Number
10- 005, my understanding is you are not offering that
and that's a duplicate of another exhibit; is that
correct?

MR. KOPTA: That is correct, Your Honor, and
| apol ogi ze for not pointing that out when | offered
t hese.

JUDGE MACE: Thank you. Dr. Gabel

EXAMI NATI ON
BY DR. GABEL:
Q Good norning, Dr. VanderWeide. 1'd like to

begin by asking you to turn to Exhibit 102. That is

your JHV-2
A This is the rebuttal testinony?
Q No, this is your direct testinony.
A. Direct testinony, okay.

JUDGE MACE: This is the exhibit that had

your sanpl e conpanies |isted.
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THE W TNESS: Yes, okay.
JUDGE MACE: Your proxy conpani es.

Q M. Kopta touched upon this in his question,
and 1'd like to learn a little bit nore about this.
When you use the term Standard and Poor's Industria
500, when | hear the the word industrial, | think of
firms that are producing products. Wiy is a firm
[i ke Wal -Mart included in the list of the industria

compani es?

A Basic -- well, let me talk about -- | don't
know why they're included. Al | -- what | -- |I'm
expl aining what | did. | took the S& 500 and

renoved the financial institutions, because financia
institutions have capital structures that are based
on an entirely different kind of business. A bank
for instance, has nostly deposits, rather than debt,
and so these are basically all of the conpanies that
are not financial institutions, and those companies
are commonly referred to as the S&P Industrials, for
what ever reason.

Q Now, on the third page of that exhibit,
where you di scuss how you created your sanple, do you
state that you renoved the financial institutions?

A | don't knowif | state that exactly. For

people in the financial markets, when you use the
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1 word S&P Industrials, it would be apparent

2 i medi ately that that's the S& 500 m nus the

3 financial institutions.

4 Q Al right. On this third page, you nention
5 that you've excluded conpani es that do not have a

6 positive dividend growth rate. So this is in the

7 second |line of the second paragraph. You say that

8 you' ve included compani es that pay a dividend and

9 have a positive growh rate. Wy did you excl ude,

10 for exanple, a conpany that had a zero growth rate in
11 di vi dends, or negative? Wat would be the reason?
12 A Well, if you -- if we start with the zero
13 growmh rate in dividends, the DCF nodel assumes that
14 di vidends grow at a positive rate. |If they grow at a
15 negative rate, for exanple, the conpany will, sooner
16 or later, go out of existence. So you're basically
17 there tal ki ng about a conpany that is not investing
18 inits business; it's just -- it's going to go out of
19 busi ness very soon.
20 If you talk about a zero growh, then you
21 would normally get a result that doesn't make sense.
22 For instance, the average dividend yield on the S&P
23 500 is approximtely two percent. Well, the cost of
24 equity couldn't be two percent, because the cost of

25 debt is over six percent, and equity is much riskier
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than that. So if you have a situation where the
conpany is not growi ng, the assunptions of the DCF
nodel just don't seemto apply, because it results in
a cost of equity of two percent for the average
conpany, maybe even one percent, which is just a
ridiculous nunber. It doesn't pass the test of
reasonabl eness that the cost of equity has to be

| arger than the cost of debt.

Q Two foll owup questions to that. First, |
don't understand the |ink between why a reduction in
the rate of dividend inplies no investnent. Couldn't
a firmjust decide, hey, we have a high internal rate
of return and we shouldn't pay a dividend to our
stockhol ders, so actually we're going to reduce our
di vidend, but we're going to increase our |evel of
i nvest ment ?

A Yes, that could occur, and what that inplies
is that they' re reducing their dividends now in order
to finance investnent in the conpany that will |ead
to future gromth. And so in that instance, the
negative growmh rate is, by definition, not a good
i ndi cator of future growth

Q Ckay. And you know the financial industry
much better than | do, but | recall reading that

maybe i f not Verizon, but one of -- or nore than one
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of the Iarge RBOCs, as well as perhaps AT&T in the
past three, four, five years have reduced their
| evel s of dividends. Am/| correct about that?

A Not the RBHCs. Verizon's has been steady.
And recently, the other RBHCs have increased their
di vi dends.

JUDGE MACE: When you use the acronym RBHC,
what do you nean?

THE WTNESS: | nean Regional Bell Hol ding
Conpany.

JUDGE MACE: It's the same thing as the RBOC
that Dr. Gabel is referring to, or is there a
di stinction?

THE W TNESS: The word, in practice, the
acronyns get intermxed. It used to -- at one point
in time, the Regional Bell Operating Conpanies
referred to the conpani es that actually provided --
the subsidiaries that actually provided tel ephone
service and the Regional Bell Holding Conpani es were
the parent conpanies that had a diversified mx of
t el ecommuni cati ons businesses. So for those who were
really well-versed in the industry, there was a
di stinction between the RBHCs and the RBOCs. For
those who -- for whom-- that aren't so familiar with

the operations of a telecom conpany, they sonetines
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use the word RBOCs to refer to RBHCs, and vice versa.

Q Am | correct that AT&T reduced its dividend?

A Yes.

Q Thank you. And in looking at the fornula
that's on the page three of Exhibit 102, this is your
DCF fornmul a that you discussed with M. Kopta earlier
this nmorning. Wy, looking at this fornula, wouldn't
it function properly if G was equal to zero?

A It would. ©Oh, yes, the fornula would
function properly, but it would produce -- it would
produce a result that doesn't make sense. DCF
nodel s, just |ike CAPM nodels and all cost of equity
nodel s are based on certain assunptions, and one
al ways has to check whether the results of the nodel
make sense, whether they are consistent with norm
risk-return relationships. And if they don't nake
sense, that's an indication that the assunptions of
the nodel really don't apply in this situation, and
one ought not to use it.

Q And am | correct to -- am| correct in ny
under st andi ng that, because of your concern about the
assunptions of the DCF nodel, you felt it necessary
to reduce your sanple size, and this is why we see in
the preceding two pages that your sanple size is nore

in the order of 100 firnms, rather than 500 firns?
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A. Yes, | think it's -- yeah, that's right. If
you take out the financial institutions, that's about
100 conpani es, round nunbers.

Q MM hmm

A. That woul d | eave 400. And then, when you
put theminto quartiles -- also, there are a good
many of themthat don't pay any dividends. That
m ght be another 100 or so. And the DCF node
certainly doesn't apply to a conpany that doesn't pay
di vidends at all, because in that case, you get a
zero cost of equity. | nean, that just doesn't --
that doesn't apply.

So once you renove all the conpani es that
are financial institutions and those that don't pay
di vidends, you're left with a smaller group, and then
the mddle two quartiles of those |eaves you with --

I think it's roughly 125.

Q So if we've renoved 100 firnms that don't pay
dividends and we're left with 125 that do, how do we
know that the 125 is actually representative of the
uni ver se?

A That, to me, represents the conpanies for
whi ch the DCF nodel assunptions apply. Those are --
those are conpanies that one can reasonably apply a

model |i ke the DCF nodel because one has data that is
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1 consistent with the assunptions of the nodel.

2 Conpani es that don't pay dividends aren't consistent
3 with the assunptions of the nodel, conpanies that

4 have -- that pay negative dividends aren't

5 consistent, and | believe that conpani es whose

6 results don't make sense, such as those in the first
7 and the fourth quartiles are -- the results, because
8 they don't make sense, |eads us to believe that they
9 don't obey the assunptions of the DCF nodel. The

10 nodel didn't produce reasonable results.

11 So | believe it's safer -- although I would
12 have gotten higher results if I'd just blindly

13 applied it to all four quartiles, | believe it's

14 saf er and one can get nore reasonable results by

15 | ooking at still a large sanple, over -- well over

16 100, ny recall is that was nore |ike 125 or so, of

17 conpani es that are | arge conpani es, nmature conpani es,
18 conpani es of average risk that have the same betas as
19 the RBHCs, and indeed they have slightly | ower betas
20 than the RBHCs, so that those are conpanies that are
21 of conparable risk, but for which one can obtain a
22 reasonabl e estimate of the cost of equity.
23 Q You stated in your prior response that if
24 you had used all four quartiles, you would have had a

25 hi gher estimte of the cost of equity, but | believe
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you've also stated that if you had used firnms that
pai d no dividend or had a zero growth rate in
di vidend or negative growth rate in dividend, you

woul d have obtained | ower estimtes of the cost of

equity.

A well, the --

Q And so | guess --

A Yeah.

Q -- my question is why is it appropriate to
take the average of the -- why isn't it appropriate

to take the average of the firnms that pay no

di vi dends or have a declining dividend or zero

di vi dend, why does that tell us that we still have a
representative readi ng of the cost of nobney?

A Well, let's exam ne those that have zero
dividends. |It's -- just on a purely |logical basis,
the assunptions of the DCF nodel are violated,
because if you start out with a zero dividend and you
now assume -- at sone point the conpany has to pay a
dividend for it to have a positive price. |[If the
conpany never pays any dividends, investors don't
ever get anything frominvesting in the conpany, and
so the price -- it won't have a positive price. And
if it doesn't have a positive -- if the nodel inplies

it doesn't have a positive price, but it, in fact,
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does have a positive price, that nmeans the nodel is
not consistent with the reality.

Now, |et's suppose that you assune a
positive growh rate. Well, whatever positive growth
rate you apply to an initial zero dividend, you'l
still get a zero dividend, because nmultiplying zero
by anything is still zero. So for conpanies that
have a zero initial dividend, no matter what your
expected growth is, the nodel inplies that you wll
have zero dividends forever. And a conpany that has
zero cash flows forever can only have a zero price
and can never have a positive price, because the only
reason it mght have a positive price, say, in Year
10, would be that investors after Year 10 expect
there to be a dividend at some point, but that's
i nconsistent with the nodel, which started with a
zero dividend and you nultiplied it by a gromh rate
and you still had a zero dividend.

So if the npdel doesn't apply, one can't
conclude either that its DCF result is too high or
too low. It's just -- the nodel doesn't work. So
you can't say that, Well, there's a bias in renoving
those firms. There isn't. Their cost of equity
m ght really be higher. 1It's just we don't know,

because you can't apply the nodel to those conpani es.
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1 Q Ckay. Thank you. 1'd like to nove on to a
2 related i ssue. Now, as | understand, you're

3 recommendi ng to the Commission that, first, the

4 wei ght ed average cost of capital is 12.03 percent?

5 A Yes.

6 Q And a regulatory risk prem um of 3.95

7 percent ?

8 A Yes.
9 Q Al'l right. Now, the regulatory risk prem um
10 is to reflect the risk that exists in the providing

11 of UNEs that you do not believe exist in the group of
12 firms that you use to estimate the cost of equity

13 which led to the wei ghted average cost of capital

14 12. 03 percent?

15 A. That's partly it. It certainly doesn't

16 exist inthe -- for the conpanies -- ny sanple

17 conpany, and it also, even if one were to apply the
18 DCF or the CAPMto a publicly-traded UNE conpany, it
19 still wouldn't be neasured in the result of the DCF
20 or the CAPM because the DCF or CAPM nodels don't

21 hold in the presence of options. That's why people
22 have gone to different equations, Black and Schol es
23 won a Nobel Prize for recognizing that, in the

24 presence of options, the CAPM and the DCF nodels are

25 illegitimate. They don't tell you what the price of
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the stock ought to be or they don't tell you what the
expected return on the stock ought to be.

So since the regulatory risk premumresults
fromthe presence of options, the cost of equity, as
nmeasured by either the DCF or the CAPM doesn't truly
nmeasure what the required return is when there are
real options present.

JUDGE MACE: Can | just -- can you nobve your
m crophone a little bit closer to you? |'mjust
worried that people on the bridge are not going to be
able to hear what you're saying.

THE WTNESS: |'mused to an environnment
where | usually speak too |oudly.

JUDGE MACE: | know, and | know you do have
a very -- a deep voice, and nore than likely they can
hear it, but |I'mnot sure.

CHAl RMOMAN SHOWALTER: Why don't you open
that up for a second. |Is anyone on the line? If you
are, we can now hear you, and let us know if you can
hear the witness.

MR. PHALEN: | can hear himloud and clear

CHAI RMOVAN SHOWALTER:  All right.

JUDGE MACE: Thank you.

CHAl RWNOVAN SHOWALTER:  Thanks. \Who was

that, for the record?
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MR. PHALEN: Brian Phalen, from ETI
CHAl RMOVAN SHOMWALTER: Thank you. It was
wor ki ng all right.

Q Dr. Vander Wei de, earlier this norning you
were stating, in response to M. Kopta's questions,
that investors | ook at the IBES --

A Yes.

Q -- the IBES report to make deci si ons about
where it's sensible to make investnents. Did
correctly understand your testinony?

A Yes, that, in short, that the IBES, or |BES
growh rates are nmore highly-correlated with stock
prices than growth rates derived froma two or
t hr ee- st age DCF nodel .

Q And you use these |IBES nunbers to estimte
your cost of equity in your one-stage discounted cash
fl ow anal ysi s?

A Yes, | have.

Q And do | understand you to state that these
forecasts, which investors rely on, don't reflect the
option val ue?

A The forecasts -- the investors undoubtedly
know that there are options, and that those options
involve risk. The point is is that there's no room

in the DCF equation to reflect those option val ues.
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1 That's why ny adj ustnent was necessary.
2 Basically, | took the DCF equation, neasured
3 the value of the option, and then added an additiona
4 term or that's what Copel and and Weston do, the
5 article that | relied on, added an additional termto
6 i ncorporate the value of the option and then sol ved
7 for the cost of equity in the adjusted DCF equati on.
8 There are two things that are required to
9 accurately estimate the cost of equity. One is that
10 you have to have a stock price that reflects
11 i nvestors' know edge about the conmpany. The other is
12 you have to have an equation that's the correct
13 pricing equation. And the DCF and the CAPM pri cing
14 equations don't hold in the presence of options.
15 That's why Bl ack and Schol es won a Nobel prize. It
16 was for recognizing that.
17 Q In your discounted cash flow anal ysis
18 formula, you have in the denom nator P subscri pt
19 zero, which is the average of the nonthly high and
20 | ow stock price April 20037
21 A Yes.
22 Q Now, would that price reflect the option
23 values that a firmis confronting? For exanple, a
24 Boei ng may have a contract with Delta, where Delta

25 has an option to buy 20 767s in five years. Wuld
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that option value be reflected in the narket price of
t he stock?

A I nvestors woul d recogni ze, when they nake
stock buy and sell decisions, that there are options,
and hence one woul d guess that it would be reflected
in the market price. |It's just that the market price
woul d not be the present value of the future
di vidends, as is assumed in the DCF nodel. And so
one couldn't take a nodel where the market price is
the present value of future dividends and solve for
the cost of equity as we do in the DCF, because price
is not the present value of future dividends. [t can
be in the price, but the price is not equal to the
present value of future dividends; it's the present
val ue of future dividends mnus the value of the
opti on.

Q Let me return to what | initially asked.

Let me turn to this topic of the regulatory risk
premum Am| correct in ny understanding that, to
sonme degree, this regulatory risk premiumreflects
that a conpany like Verizon, who has to provide UNEs,
faces risks which are different than are being
confronted by the group of conpanies in your sanple
and, therefore, you believe there needs to be a

hi gher return to reflect the additional risk?
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1 A. I don't think that it really -- 1 think

2 there are higher risks, but | don't think that's the
3 primary reason. |It's not the conparabl e conpanies;
4 it's the fact that the cost of equity, as neasured by
5 the DCF nodel or the CAPM will underestimate the

6 cost of equity for a conmpany in the presence of

7 options.

8 So even if the sanmple of conpanies were

9 conparable, and | believe they are -- if anything,
10 they're conservative because of the regulatory risks
11 associated with the TELRI C standard. The cost of

12 equity cannot be neasured by the DCF nodel al one or
13 by the CAPM nodel alone. 1t's a higher nunber than
14 t hat, because the DCF and t he CAPM nodels don't

15 i ncorporate option values. They don't have -- the
16 equations thensel ves don't apply in that situation
17 and they nmiss a key term And so it's basically the
18 fact that the DCF and the CAPM only provide a partia
19 answer to the cost of equity. Even if you had a firm
20 that were a pure UNE provider, which there aren't
21 any, you wouldn't get a correct result from applying
22 the DCF or the CAPM because those equations don't
23 hol d when there are options.
24 Q Al right. Let me just approach this a

25 little different way. Let's think of a couple of
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i ndustrial firms. Let's say, for exanple, Mdtorola
produces cell phones.

A Yes.

Q And they face conpetitors that produce cel
phones abroad, |ike Nokia; is that correct?

A. Yes, they do.

Q And let's say a pharnmaceutical conpany.

This is an industry where there's a | ot of research
and devel opment, am | correct?

A Yes.

Q And sonetines firms get a |lock on a
particul ar nedicine through the granting of a patent?

A Correct.

Q And let's say sonebody is producing
clothing. There's a risk in producing clothing,
which is associated with fashions, and nmaybe you
pi cked the right fashion or you didn't, and so that's

sonmething that's particular to the fashion industry?

A Yes.
Q Okay. So |'msure you guessed where |'m
heading on this. | just nanmed, you know, three

different industries which, would you agree, have
types of risks that are different than the
t el ecommuni cations industry in the state of

Washi ngton? One involves granting of a patent, the
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phar maceutical, the second is fashions, and the third
was inmporting of goods from abroad. Does a conpany
i ke Verizon Northwest face any of those kinds of
ri sks operating in the state of Washi ngton?

A. Al t hough the -- | think they face many of
the sane -- well, let ne start it this way. Al
risks ultimately relate to uncertainties in earnings,
no matter what nanes you put on those risks, they al
relate to the fact that earnings or the cash flows to
i nvestors are uncertain. And so the Capital Asset
Pricing Model, for instance, recognizes that it
doesn't matter what nanes you put on the risk, al
conpani es who have the sane uncertainty in their cash
flows in relationship to the narket woul d have the
same beta and, thus, would be of the sanme risk.

And i ndeed, as |'ve indicated, the Wreline
Conpetition Bureau recognized that you could -- you
ought to use a beta of one in the CAPM nodel, because
that was the average beta of the conpanies in the S&P
500, even though the conpanies in the S& 500 don't
provi de tel ecommuni cations service.

So that when we say that a conpany is of
average risk, we nean that it has a beta of one. W
don't nean that it's in the telecomindustry or it's

in the fashion industry or the drug, the
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phar maceuti cal industry. W just nean that its
future cash flows have equal uncertainty conpared to
all the conpanies in the econony.

JUDGE MACE: So just to be clear, |I'mnot
sure you exactly answered Dr. Gabel's question, but
are you saying that it doesn't matter whether Verizon
faces the sane risks as the conpanies that Dr. Gabe
cited in Washi ngton?

THE WTNESS: It depends on what variable we
focus on. If we're focusing on cash flows, that is,
the cash -- which is what investors really care
about, is what cash are they going to receive as a
result of their investnment, Verizon and Verizon
Nort hwest face investors, face the same risks. That
is, that their cash flows are uncertain. And if they
are -- if their cash flows are equally uncertain,
peopl e commonly agree that they face the same risks,
al t hough the reason why their cash flows may be
uncertain in one case m ght be because there are
technol ogy changes in the telecomindustry, and in
anot her case, it may be that fashions will change

Investors don't really care whether it's
because there are technol ogy changes or because
fashi ons change. What they care about is the bottom

line. Are the cash flows that we can expect to
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receive fromthis conpany nore or |ess uncertain.
And if they are equally uncertain, fromtheir point
of view, those compani es have equal risk. |It's
imaterial to them whether -- what the cause of that
is, as long as the resulting uncertainty is the sane.
Q Now, just -- I'll push this -- I'"Il just ask
ask this one nore tine, because | want to make sure
-- | understand your point of why there's option
value that -- and | understand the theory that you're
referring to. Well, I'Il just -- I'"ll just nobve on
Let me ask you now to turn to, in your
direct testinmony, it's Exhibit 101, you have a
formula for cal culating your regulatory risk prem um
This is at page 58.
A Yes.
Q And when you're discussing this fornula, you
were also referred to JHV-4.
JUDGE MACE: That would be Exhibit 104.
THE W TNESS: Wich is the Copel and and
Weston article?
JUDGE MACE: No, it's a chart.
Q It's a chart. The Anal ysis of Washi ngton
Net wor k | nvest ment .
A Oh, yes, okay.

Q Okay. How, as a reader, can | see how you
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took the numbers that are on Exhibit Nunber 104 and
put theminto your Forrmula One that appears on page
58, and your Fornmula Two that appears on page 62?7 |
have troubl e seeing the relationship

A. Al right. 1'll explain that. 1In the
formula on page 58, the first termis, on the left,
is the anbunt -- is the investrment in the network on
a total network basis. So that's referred to by the
letter I. So the anpunt of the investnent is found
in JHV-4 as the total forward-Iooking investnents of
1, 856, 296, 315. So that would be the | in that
formula. Then Ois the nonthly operating expense.
The operating expenses are shown in JHV-4 on the
right, and I would divide those by 12 to get a
nont hl y operating expense. And that woul d be put
into the formula as -- for the letter O

Q And just for that, as a point of
clarification, operating expense nunbers are
generated by VZ Cost?

A Yes.

Q Okay. And why is it that there's no entry
for support investnents or --

A I don't know how Verizon characterizes this.
For my purposes, | only really need the three bottom

line nunbers, total forward-|ooking investnents,
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expected life, and the operating expenses. How they
are put into the different categories, you would have
to ask Verizon. So that would be the operating
expenses. The depreciation would just be straight
line depreciation. W would take the initia

i nvestment of one-billion-eight-hundred-fifty-six and
depreciate it in a straight line basis over 17.1
years.

Q And the 17 years is the
Commi ssion-authorized life or the --

A That's my understanding, that it is. Again,
Verizon woul d be the best one to ask for that.

Q Well, which do you think is the appropriate
depreciation to use, the depreciation that's used in
the cost studies or the depreciation that is the book
rate, which you're suggesting is 17 years?

A One ought to use the expected life that is
ultimately agreed to by the Commi ssion, but since we
don't have evidence of that yet, that's the purpose
of the proceedi ng, one of the purposes, | believe
they used the |ife that was used in the |last UNE
proceedi ng.

Q But wouldn't that be different than the life
that's used to produce the | ast columm, operating

expenses, since if --
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A. Wel |, yeah, these operating expenses are
annual i zed operating expenses, and so they're assuned
to be constant over the life. So this is the
operating expense per year, and that operating
expense would go on for 17.1 years.

JUDGE MACE: |I'd like to take a break, 15
m nut es.

(Recess taken.)

JUDGE MACE: Let's be back on the record.
Before Dr. Gabel continues, we need to address the
qguestion of the lunch break today. M. Kopta and Ms.
Smith have an appointnment that will take them away
fromthe hearing from1:30 to 2:00. We will have a
Il ong lunch break and we' Il resune at 2:00. If it
ends up you're del ayed sonewhat, |'I|l get the
Conmmi ssi oners when you finally conme back

MR. KOPTA: Thank you, Your Honor

JUDGE MACE: All right.

MR, BERRY: Judge Mace, what is your
expect ati on about when we woul d break for |unch
approxi matel y?

JUDGE MACE: At noon.

MR. BERRY: Thank you.

Q M. Vander Wei de, right before break, | was

aski ng you about the expected life, and we were
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di scussing if it was the book life or the lives that
are recommended in this proceeding by Verizon, and
you said that, to get an answer to that question, I'd
need to pose the question to the right Verizon
witness. Do you know which wi tness woul d have that

i nformati on?

A No, | don't, but | have given it sone
t hought since -- during the break, and ny recall is
that this is the depreciation life that is used by
Verizon in its cost nodel, that this is their
recommended depreciation life, and that ultinmately
one could do it again once a depreciation life is
decided, but it shouldn't have a material -- a really
| arge i npact on the cost of capital

What's inportant is to recognize that there
is arisk premiumrequired and what the approximte
magni tude i s.

Q Thank you. So | had interrupted. You were
wal ki ng us through the fornmula that's on page 58.

A Yes. So we've al ready gone through the
anount of the investnent, and we've gone through the
operating expenses, and this assunmes that this --
that these are the aggregate anmounts. And so then we
woul d take the -- we determ ned the depreciation from

the average |life, and using the tax rate, the
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depreci ation, the operating expenses and the
i nvestment and the 12.03 percent wei ghted average
before tax cost of capital, we'd |look at the
after-tax conponent of that, what the after-tax
equi valent is, and we'd solve for the | east paynent,
that's L.

In nmy nodel, | assuned that M/, the sal vage
val ue of the asset, is zero, that it's fully
depreci ated over the 17.1 years. So | would first
solve for the |east paynent that's required if there
are -- if there is no option, and I would use the
data for investnment, operating expenses,
depreciation, and the after-tax wei ghted average cost
of capital

Then | woul d solve for the value of the
option itself, and | would | ook at Equati on Two,
which is on page 62. And that equation is the sanme
in all respects, except for the last term which is
pi ece of eight. And that's the value of the put
option that the CLECs have to put the network back to
Verizon if they decide to build their own network or
if they decide to use some other provider of network
services. And so | calculate for the put value and
cal cul ate the new | ease paynents from Equati on Two

that will nake the present value of the |ease
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revenues, mnus the operating expenses, plus the
depreciation tax shield, equal to the investnent, and
| plug those into Equation One to solve for the new
cost of capital, and that's how | get the risk

prem um

Q And coul d you explain how you deternine the
val ue of P subscript A the value of the option to
cancel ?

A Yes, | use an option pricing formula that's
exactly described in this article by Copel and and
Weston. Basically, it's called the Binom al Option
Pricing Fornul a.

Q MM hmm

A And that formula is described in that
article and you need certain inputs to that, and you
need, for instance, a risk-free interest rate, you
need to know the life of the option, and you need to
know the volatility. And | nmeasure the volatility
fromoption contracts on Verizon's stock, and | then
put those inputs into that Binom al Option Pricing
Formul a described in the Copel and Weston article and
solve for the value of the put option

Q And why did you use the -- for the
measur enent of the volatility, sonmething you said you

obtai ned from options on the Verizon stock. Wy did
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you use that, as opposed to the volatility that was
observed in the use of UNEs?

A Because the volatility in the option pricing
formula is a volatility in market val ues of the
assets, and there is no -- and there are no conpani es
whose stock is publicly traded that we could -- that
we can get an unbi ased neasure of volatility. |
could, for instance, do a sinulation on different UNE
forecasted cash flows, but that m ght then be subject
to any forecast error on ny part in forecasting those
UNE revenues or those UNE operating expenses, and
felt that a market forecast would be nuch |ess --
much nore accurate and would not be -- would not
relate to ny particular forecast of UNE revenues and
variability of UNE val ues.

Q I s your neasurenent of volatility, say, a
standard devi ati on neasurenent?

A Yes.

Q Al right. And why would it be appropriate
to use, say, the standard deviation for the option on
the Verizon stock, as opposed to the standard
deviation on renting UNEs, you know, | ook at what's
the average life of a UNE and what's its standard
devi ation?

A Yeah, what you need is a standard deviation
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of a rate of return in the option pricing nodel.
You're dealing with investors' rates of return on

i nvestment, and those are uncertain. And so you need
to have a standard deviation of that rate of return
And | just don't know of any way that one could get a
standard deviation of a rate of return over the
17-year period of the investnent in the facilities to
provi de UNEs that woul dn't be subject to trenendous
controversy about how one forecasted the standard
devi ation of revenues and standard deviation of
operating expenses and the standard devi ati on of the
amount of the investnent.

That woul d be |ike having to argue about not
only a cost -- a VZ Cost nodel, but also arguing
about how the VZ Cost npdel changes with regard to
all the inputs and, hence, the standard devi ati on of
t hose changes. That would be a highly controversia
thing to do, | would say, whereas this is the inplied
volatility of investors that's neasured by the option
pricing fornmula, so that it represents -- it does
represent Verizon, which its volatility ought to be
quite a bit less than the volatility of UNEs
t hensel ves because of the ability to diversify over
wireline versus wireless. There ought to be a |ot

less volatility in Verizon's stock price than there
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woul d be in the -- in a stock price that was rel ated
only to UNEs.

Q Last question in this area, and then |I'm
going to nove on to another topic. Wen you reported
your results fromthe discounted cash flow anal ysi s,
when you | ooked at your sanple of 125 firns, you
reported sensitivity analysis. You said, Well, if |
hadn't -- you stated if you had included other two
quartiles, it would have raised the cost of equity by
a small anpunt. Did you undertake any sensitivity
anal ysis for your regulatory risk prem um anal ysis?

A Yes, | -- first of all, | provided the
software for the nodel as part of the record and --
or as part of the -- | forget whether it was in
response to a data request or whether | provided it
as part of the work papers, but it is -- it is
avail abl e and one can change the paranmeters and see
what the results are. | believe that nopst of the
paranmeters are not so controversial. The risk-free
rate that's required is the return on a governnent
bond that has the same maturity as the option.
That's not a very controversial number. The result
m ght be sensitive to that, but that's -- but there
shouldn't be alternative values for that. There

shoul d be only one.
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It's sensitive to the -- it's somewhat
sensitive to the life of the option, but in this
case, the 17 years is fairly straightforward, and
it's not that sensitive to whether it's 16 or 18. If
it were zero or if it was one, it would make a big
difference. And the volatility of Verizon's stock
was not that nuch different than that for other
stocks. And so there's no -- there's pretty solid
dat a behind each of the inputs into that nodel.

Q This was going to be ny last question in
this area, but now | have to follow up your |ast
comment. You said that the volatility of Verizon's
stock wasn't different than the volatility of other
stocks. If other stocks don't have associated with
themthis option of having to rent out your network
at a wholesale price that's determ ned by regul atory
conmmi ssion, does it surprise you that Verizon's isn't
any nore volatile, and does that indicate anything
about the inportance of this option value?

A Well, first of all, there were -- | believe
that Verizon's volatility is less than what it would
be for the pure UNE, because of the ability of the
natural diversification associated with owni ng both
wireline and wirel ess operations. They are natura

hedges agai nst each other. So | think that's a



0667

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

conservative estimate of the volatility for the UNE
busi ness.

But ot her businesses have -- the option
pricing nodel determines a value for the option, and
that value would be there if you had an option for
the other conpany's stock, as well. \Wat the -- so
there is certainly volatility in the other conpanies
stock prices, as well as volatility in Verizon's
stock price, and it doesn't surprise ne that, since
Verizon has a beta of one, it doesn't surprise ne
that their volatility is approximately the sane as
the volatility of other stocks.

VWhat is different is that when you use this
to neasure internal cost of capital and you have an
internal investnent that involves a real option, as
opposed to a financial option, that you have to add
sonmething to the cost of capital that you get in the
mar ket pl ace to get a cost of capital appropriate for
an investment decision within the firm because of
the real options. For the other conpanies, you m ght
have a volatility associated with a financial option
on their stock, but they might not, if they don't
have real options on internal investnments, have to
have a risk prem um over and above the DCF result to

make i nternal investnent decisions.
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AT&T obvi ously does have sone type of a risk
prem um because their cost of capital is simlar, if
not higher. It is higher than my estimate. So they
clearly recognize this option value and the need for
a risk prem um associated with [ong-1lived options on
i nvestments in tel econmuni cati ons assets.

Q Thank you. |1'd like to ask you to turn to
page 37 of 101, this is your direct testinony, page
37, lines four to seven. You state, TELRIC rates are
based on the unrealistic assunption that the
t el ecomruni cati ons network can be reconstructed each
time a new technol ogy appears and conpani es incur no
cost in transitioning to new technol ogies.

Can you point to sonething in this
Conmi ssion's decision in its prior UNE cases where it
made unrealistic assunptions about the network being
reconstructed each tine a new technol ogy appears?

A I can't point to sonething in the -- in any
orders. It's a fundamental characteristic of cost
proxy nodels. Whichever cost proxy nodel you use,
they're forward-1ooking. And in that cost proxy
nodel , you |l ook at what it would cost to build a
t el ecommuni cati ons network starting today, that woul d
have the same functionalities as the current network,

or that would be projected over the forecast horizon.



0669

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

So it's a fundanental -- since you're not
| ooking at historical costs, you're not |ooking at
what the actual investnents are; you're | ooking at
the cost of, inherently, of constructing a new
network. And you're supposed to use the nost
efficient avail abl e technol ogy.

And so when you build the cost proxy nodel
you | ook at the cost of -- the amount of investnent
of building a network. And so you essentially
assune, since -- there's essentially an equival ence
bet ween usi ng forward-|ooking econonmic costs and the
assunption of reconstructing the network. And what's
different is that you do this again in mybe five or
si X years when you set rates the second tine. You
| ook at a new cost proxy nodel, and that cost proxy
nodel tells you what it would take to construct the
network five years later. And if you do that before
the Iife of the -- before the assets are fully
depreci ated, you may not be able to recover your
i nvestment in the assets during the -- that were
assunmed to be required to build the network the first
time.

That's inherent in the forward-Iooking
econonm ¢ cost standard, and the FCC has recogni zed

that and has stated clearly, in the Triennial Review
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Order, that if rates are reset nore frequently than
the econonic life of the asset and costs are
declining, the conmpany will not be able to recover
its costs.

Q Thank you. Turning to page 40 of the same
exhibit, line 18, you use the phrase "make foll ow on
decisions." Wuld you explain what you nmean through
the use of that ternf

A Yes. |I'mtalking here about making an
i nvestment and t hen having a second decision that
depends on the initial results of your investnent
with an option -- the inherent characteristic of an
option is that you make an investnent today, you see
what the results are in periods -- forward-Iooking
peri ods one or two, and then you can decide to invest
again or not invest in a second period. That's what
| mean by a followon investnent.

The DCF nodel, as all DCF nodels and the
CAPM assune that you nake the investnent now and
then you wal k away. All the cash flows occur and you
don't -- you don't meke any investnents that respond
to what happened in period one and two.

Q Thank you. [I'd now like to ask you to turn
to Exhibit 105. This is your reply testinony of

April 20th.
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A Yes.

Q Page 16, at lines seven through nine, you
state, UNE rates are based on the unrealistic
assunption that the incunbent serves the entire
demand for tel ecommuni cations service, even though
conpetitors serve a significant increasing share of
t he market.

Now, when you state that the rates are based
upon the unrealistic assunption that the incunbent
serves the entire denmand, is it your assertion that
the UNE cost nodels assunme that the ILEC is now a
nmonopol i st and serves 100 percent of the market? |Is
t hat what you're asserting?

A. I'"masserting that the FCC has stated, in
its Local Conpetition Order, that when -- that you're
to build a network on a forward-1ooki ng basis, and
that network is supposed to have the capacity to
serve the entire market. So when you now go back to
that equation that we were tal king about earlier
where you set the | ease paynents or the UNE rates,
you are assunming that the present value of the UNE
rates of the projected UNE revenues over the life of
the network are sufficient to cover the costs of that
network. And in that calculation you are to assune

that the network is | arge enough to satisfy all of
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t he demand.

You're not -- you have the tension, as the
FCC recogni zed in its notice of proposed rul e- making,
that on the one hand you're assuming that the firm
operates in a conpetitive market when you estinmate
all the inputs in the nodel. And indeed,
forward-1| ooki ng econom ¢ costs only nmake sense in a
conpetitive market.

On the other hand, as the FCC recogni zes,
you're assumng that, in the cost nodels, you build a
network that is sufficient to handle all of the
demand, and then, when you deternine the revenue that
are required to cover all the costs, you divide by
the nunber of lines to get a | ease paynent per |ine,
and when you divide by the nunber of lines, you
divide by all the |ines.

So that's what | nean when you say that
you' re assum ng you have 100 percent of the demand.
That is, you divide by all the lines to get the | ease
revenues per line that will be sufficient to cover
the costs on a forward-1|ooking basis.

Q All right. And when you use the phrase "al
the lines,” is all the lines all of the lines that
shows up, for exanple, in Verizon's ARMS report --

A No.
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1 Q --or is it all of the lines which include
2 not only the lines that are served by Verizon, but

3 also the lines that are served by the CLECs?

4 A It's -- well, the ARMS reports would refer
5 to lines that occurred |ast year. The lines that

6 woul d be used would be the lines used in the -- in a
7 cost nodel, the cost proxy nodel. In that cost proxy
8 nodel , the guideline is is that it would be the

9 demand for the foreseeable future or over the

10 pl anni ng hori zon.

11 | guess in the Verizon nodel, that night be
12 a three-year planning horizon, but it's the --

13 guidelines are that it be the project -- not the

14 projected |lines served by Verizon; that it be the

15 projected lines that the network could satisfy in

16 total, including the lines of the CLECs, that were
17 offered to the CLECs, but not any lines on

18 alternative networks, necessarily; just the lines

19 that could be served on the incunbent's network

20 including all those that were |leased to UNEs -- to
21 CLEGCs.
22 Q Okay. Now, remmining on page 16, if you

23 turn your attention to a paper by Sharkey and Mandy,
24 its an Ofice of Strategic Planning and Policy

25 Anal ysi s paper.
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JUDGE MACE: \Where is that, M. Gabel?

DR, GABEL: It's Exhibit 105, page 16,
starting at |ine 13.

JUDGE MACE: Thank you.

Q Do you know, in this paper, are the authors
assum ng that the cost of construction increases or
decreases over tine?

A They' re assunming that the cost decreases
over tine in their paper

Q Have you ever | ooked at the tel ephone plant
i ndexes for Verizon? Do you know if, for exanple,
its cost of burying cable or placing poles or hanging
aerial cables has been increasing or decreasing over
time?

A | don't know whether it, in fact, has been
i ncreasi ng or decreasing, and | haven't | ooked at
such cost indices. | do know that, over tine, in the
second round of UNE proceedi ngs, for whatever reason,
they're frequently -- been based on an assuned
decrease in cost. | know, for instance, that the
line cost rates that have been recommended by the
Hatfi el d nodel and -- as sponsored by AT&T and
Wor | dCom now MCI, have projected decreasing costs
and have been based on decreasing costs over tine.

And | know that the very assunptions of the
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forward-| ooki ng cost nodel, as the FCC discussed it,
were based on the assunption of decreasing cost.

It's possible, and in fact, costs will
increase. | don't have opinion on that. | just -- |
know that, in fact, state conm ssions have frequently
set UNE rates in the second round based on the
assunption of declining costs, and that AT&T and M
and the Hatfield nodel have al so projected declining
costs.

Q Now I'd like to ask you to turn to your
Exhibit 106. This is your May 12th filing, May 12th
of this year. Page 31, at line 16, you state that
beta val ues are nmeasured using five years of nmonthly

hi storical data?

A Yes.
Q Is this your convention, the convention of
financial analysts? |'mjust curious about why you

say this is the way in which betas are neasured?

A. Yes, it's not ny convention. It's -- the
way Val ue Line calculates betas is generally with
five years of historical data. And npbst anal ysts
that estimate betas have, over tine, used a five-year
convention. But in this context, |I was referring to
Val ue Line betas, because those were the betas that

Dr. Selwn used.
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1 Q Ckay. Now, turning to page 35, you have a
2 graph, which is a scatter plot of Dr. Selwn's data

3 poi nts?

4 A Yes.

5 Q Do you see that? Now, you have a horizonta
6 line there?

7 A Yes.

8 Q Now, your coefficient estimte wasn't zero

9 was it? It was just statistically equal to zero?
10 A. It was statistically equal to zero for those

11 t hree conpani es.

12 Q And that's why you nmade it a horizonta

13 line?

14 A. Yes. And just visually, | don't think

15 there's any doubt that there's just -- one could see
16 that, obviously, there's not -- certainly not a

17 positive or a negative relationship between beta and

18 t he percentage of non-I1LEC assets. Certainly, a

19 horizontal line visually would best fit the data
20 poi nts.
21 Q And then, | ooking at your regression results

22 on table three, page 36.
23 JUDGE MACE: These -- there was a revision
24 | don't know if you're aware of it.

25 DR GABEL: Oh.
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1 Q Wul d you agree nost of these coefficients

2 are not statistically significant?

3 A Yes.

4 Q Did you do an F test to see if, overall, the

5 nmodel is statistically significant?

6 A Yes. It's not.

7 Q It's not?

8 A Yeah.

9 Q Turning to page 75 of the same exhibit, here

10 you' re discussing AT&T's updated cost of capital for

11 i nternal investnment decisions?
12 A Yes.
13 Q Al right. Have you read the FCC s approva

14 of Qwmest WAshington's request to provide interstate
15 services? This is the 271 application for the state

16 of Washi ngton by Qwest.

17 A. No, | have not.
18 Q Okay. Let me just represent, at Paragraph
19 426, there was a discussion about, well, can you use

20 AT&T's nunbers to decide the costs that are incurred
21 by an efficient firm and for a nunber of reasons,
22 the FCC declines to use AT&T's internal nunbers when
23 deciding is there going to be a price squeeze if

24 Quwest is granted 271 approval. And AT&T said that

25 there woul d be a price squeeze and they said that
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they wouldn't be able to cover their internal costs.
They said their internal costs were $10. And the FCC
rejected that presentation by AT&T for a nunber of
reasons.

And just one thing | would |ike you to react
to, having in mnd in general what the FCC did, they
said, Well, how do we know that AT&T is the right
benchmark for an efficient firn? That's one firm
but we don't know if it's truly an efficient firm
Transl ating that same type of analysis to this
situation, do you have know edge of what kinds of
i nternal cost of capitals are used by other CLECs?
Are they in the same range?

A. Well, the answer to that is yes. In
response to a interrogatory at the -- in the Virginia
Arbitration Oder, or the Virginia arbitration
proceedi ngs, MCl indicated that it also used an
internal hurdle rate in the same range as AT&T. And
in that proceeding, AT&T's was sonewhat |ower than it

is today. They have increased their internal hurdle

rate, but -- yet MCI's was in the sane range as
AT&T' s.

DR. GABEL: Thank you. | have no further
guesti ons.

CHAI RWOVAN SHOWALTER: | think we should go
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to lunch, but just one question. Dr. Gabel nentioned
AT&T's internal rate or hurdle rate. That was not
confidential, was it?

MR. KOPTA: Vhat he said was not; the rate
itself is.

CHAl RWNOVAN SHOWALTER:  The dol | ar anount was
not confidential ?

MR, KOPTA: Well, he didn't give the actual
anmount .

CHAI RMOVAN SHOWALTER: That was conf usi ng.

DR. GABEL: Onh, the $10 nunber was not.

MR, KOPTA: Different thing.

CHAl RMOVAN SHOWALTER: Al right. | think
we should break for |unch.

JUDGE MACE: We'Il break for |unch, and
we'll resume at 2:00.

(Lunch recess taken.)

JUDGE MACE: Let's now be back on the

record.

EXAMI NATI ON
BY CHAI RWOVAN SHOWALTER:
Q Yes, can you turn to Exhibit 120? And that
was the cross exhibit that you were | ooking at

earlier from AT&T.
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A There were several. There was the --
JUDGE MACE: It was the Exhibit Nunber 8.
THE W TNESS: Yes, okay. The excerpt from
CC Docket 98-1667?
Q That's right. And on page three -- or four
of -- page four of that exhibit, it's Exhibit 120,

page four, you have an el aborate fornula at the

bott on?
A Yes.
Q K equals. And in the denom nator, you have

Ptimes (1-FC)?

A Yes.
Q And the ternms are defined right above it.
A Yes.
Q. Al right. Now, can you turn to Exhibit

1027
A That's my direct testinony or --

Q Ri ght, and that's the three-page simlar

formul a.
A Yes.
Q And on page three, you have a simlar

formula, but | notice that the denom nator only has
the P, it doesn't have the 1 mnus FC in the
denom nator. And since, of course, |I'mnot very

famliar with these forrmulas, |I'mjust wondering if
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1 there's any significance to that fact?

2 A First, let ne say that you've read this very
3 carefully. That's an ammzing catch. The FC is anpng

4 the notation --

5 Q Right.

6 A. -- that's just above it, but it was

7 i nadvertently left out of the equation

8 Q So it should be --

9 A It should be in the equation. It has a

10 m nuscul e i npact.

11 Q So it should be P(1-FC)?
12 A That's correct.
13 Q This probably nakes me | ook nore intelligent

14 than | am but what it really is is I'"mreacting on
15 the surface of the exhibit and | noticed the

16 di fference.

17 A Well, it's pretty amazing.

18 Q Okay. SO -- but that is to say, then, the

19 actual operation, the formula you used was the sane

20 in both instances?

21 A Yes, it was.

22 Q Okay. And then, while we're on this page
23 do | understand you to say that the fornmula -- let's
24 call it the Kformula, since it's K equal s sonething.

25 A Yes.
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Q That this Kformula is sinply inconplete for
the purposes we're using here?

A Yes.

Q And is it necessarily always inconplete for
t he sanme purpose as applied to any company?

A. No, it's not necessarily always inconplete.
It's inconplete when you are trying to value a
project that has real options involved with them A
real option is where you have an initial choice
whet her to accept a project or not, and then you have
anot her choice at a | ater period regardi ng whet her

for instance, you expand the project or you change

the size of the project or you -- you have a
secondary decision and -- or you give someone el se
that secondary decision. 1In the case of the network

you' re giving sonebody el se a secondary deci sion, and
that is whether they return the network to you. It's
called a put option. They put it back to you.

And the fornula, this fornmula for the cost
of equity is derived froman equation for the price.
So you start with an equation for the price as being
t he present value of the future dividend stream

Q And you're saying that's inconplete?
A That's i nconplete when there are options.

Q Al right. So --
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A. So that when you solve for K, you're solving
for the cost of equity fromthe wong fornul a.

Q Al right. Because the cost of equity
i nvol ves nore than just the net present val ue of
expected future dividends?

A. Exactly right. It involves also an
additional termto reflect the value of the option.

Q Okay. But, then, if you were determning
the cost of equity for any conpany, let's say an
anonynous conpany, you don't know what it is --

A Yes.

Q -- you would use this formula, and then you
woul d additionally ask yourself, Is this a conpany

t hat has options?

A Yes.

Q And t hat answer mi ght be yes or no?

A Yes, that's correct.

Q So for the class of conpanies that have

options, you would need to do an additional step to
cal cul ate that kind of a risk?

A That's correct.

Q Is the risk -- is it only an addition? 1In
other words, is the cost of equity always K or
bi gger? Can you have sonmething so stable and wi t hout

any options that there's a negative additur?
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A. The cost of equity is -- always goes up, but

in the equation that has the valuation, there nay be

a plus termor a negative term It will be a plus
termif the -- if it's a put option, that is, the
right for someone to return sonmething to you. It
will be aplus if it's a call option where --

Q You nean a negative? You said plus both
times.

A Oh, I"'msorry. | neant a negative the first

time, where it's a put option

Q Okay. Can you just say that again, then?
It would be negative --

A Yeah, it would be a negative termto the
price equation when it's a put option. That is,
where soneone has the right to sell sonething to you
at a known price or return it to you.

Q And so you could take -- that means you, the
conmpany, could take advantage of that so there would
be sone potential benefit?

A Well, you gave to custoners, you sold to
sonmebody el se or you gave to sonebody el se the right
to return the network to you, and that right that you
gave to the custoners was very valuable to them
because the custoners, being the CLECs, wi thout

maki ng any investnent on their own, then have the
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ability to enter and exit the market for nothing

Wi t hout any cost. They can enter the market without
having to make any investnment, and if things don't go
right, they can inmediately exit the market. O if
the econony is good, they can enter the market when
the econony is good, and if the econony goes down,
they can i mmediately exit during the down years and
return when the good years conme again. \Wereas if
you build a fixed network with physical facilities,
you can't do that. You're |ocked in, because the
physical facilities -- you've nade the investnment and
you can't do anything else with those facilities
because they're specific to this particular use.

Q All right. So if |I were trying to determ ne
the cost of equity of Conpany X at fully conpetitive
-- in a fully conpetitive environment, | would use
this formula, | would use the center two quartiles
m nus the financials, mnus the conpanies that --

A. Don't pay dividends.

Q -- don't pay dividends. | would then ask is
this a conmpany that has a put or a call-type option,
and depending on it and sone valuation of it, | would
ei ther add or subtract fromthis K fornul a?

A Fromthe formula for the price, and then you

woul d solve for K
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1 Q | see.
2 A And that's, in fact, what real world firns
3 do when they set internal hurdle rates. In sone

4 cases, there mght be options, but they're so snall

5 in value to have no effect at all. In other case,

6 there may be options, and they're substantial, and it
7 coul d have a significant inpact on the cost of

8 capital or the hurdle rate.

9 Q Okay. Thank you. If you could turn to

10 Exhibit 101-T, that's your initial testinony, page
11 four, specifically lines seven to nine. This is a
12 simlar subject that you discussed with Dr. Gabel

13 but when it says, The nost efficient technology to

14 neet the entire demand for tel ecomruni cations

15 services -- | had ny own questions, and | was also a
16 little unclear on your answers to Dr. Gabel, but,
17 first of all, does the entire demand for

18 t el ecomruni cati ons service include all possible

19 nodes, wireless, cable, and land line in this formula
20 or met hod?

21 A It includes Iand |line tel ephones, the entire
22 demand for land |line tel ephones. Nanmely, the FCC

23 says that when you build a cost nodel, you are to

24 build a network, you are to calculate the cost of

25 buil ding a network that has the capability of neeting
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the foreseeable demand for -- and then they use the
wor ds tel econmuni cati ons service, but in practice,
for those that build these nodels, it neans the
foreseeabl e demand for wireline tel econmunications
servi ce.

Q Al right. So in my mind, |I'm beginning
with a pie of total demand, and sone piece of it is
wi rel ess and sone piece of it is cable, and those
wedges m ght grow over tine, but some pieces of this
pie left is land |line, and that's the one that you
are dealing with here. Judging whatever it is is
anot her matter, but just --

A Yes, that's how | interpreted the FCC s
requi renment, that when you build a cost nodel -- and
others nmay have a different interpretation, because
it's the FCC s requirenent. And their requirenent
was just that the network that you are cal cul ating
t he cost of should have sufficient capacity to neet
the foreseeabl e demand for tel econmunications
servi ce.

I have interpreted that, since the conpany
has historically provided wireline service, that
those words woul d nean the foreseeable demand for
wi reline tel ephone service.

Q Okay. Supposing, of nmy pie, half of it is
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land line. Then when -- in the Verizon nodel, is the
Verizon nodel built on the total number of lines in
that half a pie, or if Verizon's part of a pie and
its territory is three-eighths, is it the
three-eighths? 1In other words, is it the demand that
woul d be made of Verizon's footprint network or is it
nor e?

A Well, that --

Q And by the way, | don't nean literally of
it, but --

A Ri ght .

Q -- the nunber of lines that could be in that
footprint.

A. Yes. It's a difficult question to answer.

Let me give ny interpretation, the best I can do,
just because the FCC s words are kind of vague in
that regard. It would seemto ne that at one tine
the network was designed -- there weren't other
alternatives, such as cable or wireless, and so the
network was designed to provide voice grade tel ephone
service to the entire population. And so when you
build that network, you're -- it's supposed to be
capabl e of providing voice grade tel ephone service to
whonever may denmand it.

So if a custonmer calls and said they would
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li ke to have voice grade tel ephone service on a wire
line network, the network has to be capabl e of doing
that. You have to be a universal service provider
if you will.
So I would think that would be the entire

popul ati on of people who m ght denmand
t el ecomruni cati ons service. |In practice, | don't --
I"'mnot familiar with exactly the demand forecast
t hat people use in their cost nodels, but when -- but
if you interpret the words literally as the
foreseeabl e demand, it would be the denmand coni ng
from anyone who night demand wireline tel ephone
service. \Whether they, in fact, do or not, you have
to be capable of being on the ready to give it to
them at the ready to give it to them

Q Al right. So a UNE, the value of a UNE
woul d be the value of one little sliver of the half
of a pie wi thout knowi ng whose sliver it mght
ultimately be? It might be a demand nmade on Veri zon
but it mght be a choice to go sonewhere else; is
that correct?

A Yes, in other words, you have to build the
network to be able to satisfy the demand for the
entire popul ation. \Werever they nmay be | ocated and

whet her they intend to take land |ine tel ephone



0690

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

service or not, you have to be capable of doing it.
Then, of that entire popul ation of people who m ght
want to have tel ephone service, sonme of them may
decide they don't want to use |land |line tel ephone
service, but the cost studies are based on the entire
demand and the revenue-per-line cal cul ati on assunes
that you get |ease revenues from everyone.

Q Al right. Although your answer just then
seenmed to me to go over to the other half of the pie.
That is, you said sonebody m ght not want |and |ine,
and | was thinking that --

A It's when you forecast -- again, it's a
di fficult question, but when you forecast the
foreseeabl e demand, | would interpret that to nmean --
and again, other econom sts could differ, but I would
interpret that to nmean, given the history of the
i ndustry, that that would be the foreseeabl e demand
from anyone who m ght want to -- want to take
wi reline tel ephone service, because you have to be
ready to provide that demand. And that would -- that
could be just about anybody. That would be a
function of the popul ation

Q But woul dn't there be a judgnent involved?
That is if, say, half the lines are w reless, you

don't need to build or assunme the network is going to
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provi de the whol e pie, because you know that not half
of the -- not all the people of wireline are going to
come running over to the land Iine. So there's sone
ki nd of judgnment to be nmade, | take it?

A. I would guess so. I'ma little beyond ny
dept h, because |I'm not the one who does the cost
studies, so | don't know how they interpret, the ones
that do the cost studies, interpret the phrase
foreseeabl e demand for tel ephone service.

Q Okay. 1'Il ask them Can you turn to
Exhi bit 106? That's your rebuttal, page seven. No,
excuse ne, page 16.

A Yes, |'mthere.

Q And |'m | ooking at |ines seven through 14.

I guess ny question is, on line 13 and 14, this is --
the cost of capital is supposed to provide Verizon
with a reasonabl e opportunity to recover its costs,
including its cost of capital?

A Yes.

Q And | am wondering how this el ement here
interacts with the additur for the risk, because it
seens |i ke you are adding that 3.5 percent or so,
because there's a chance you m ght not get your costs
covered?

A Yes, and that the risk is asymretric, in the
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sense that you have a risk that they won't be
covered, but you don't have the opportunity on the
ot her side, there aren't an excess return. The rates
are set so that, in the best of circunmstances, you
woul d just cover your costs, and if they are reset
prior to the tine that you've depreciated your
network, which is 17 years, to reflect a | ower cost,
t he supposedly | ower cost of a new technol ogy, or if
some of your custoners decides to take an
alternative, such as cable or wireless, then you
woul d not earn your required return.

Q So therefore, -- so therefore, that's why
you add the additur, because of potential dropoff?

A Yes.

Q In which case you would not recover, unless
you drive up your cost of capital?

A Ri ght, you don't really expect to earn the
hi gher nunber. |If you take the two nunbers as being
12 and, say, 16, you need to set rates based on a 16,
so that you can actually expect to earn 12.

Q Okay. | think I see. M |ast area of
inquiry is just nore general. I'mtrying to
understand the effect of the FCC s TELRI C policy.

And |'m going to use an anal ogy, sort of, which is if

it were an FCC directive, binding directive, that we
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had to deregulate all prices imediately -- that is,
assune a fully-conpetitive market. 1In a
fully-conpetitive narket, presumably, there'd be no
regul ated rates?

A Yes.

Q And so if we were going to assune a
fully-conpetitive nmarket, we'd say, All right,
there's no rates.

A Yes.

Q Now, obviously in -- if, inreality, we
didn't have that fully conpetitive market and instead
had a nmonopoly or sonmeone with nmonopoly power, the
unregul ated nonopoly could raise its rates, and the
monopol y power might be used or potentially could be
used such as to squeeze out any conpetitors, and

you' d never reach the stage that you were assum ng --

A Yes.
Q -- as full conpetition?
A. Ri ght .

Q And that's why we don't do that. W have
gradual lightening of regulation upon a showi ng of
real actual competition?

A Yes.

Q Al right. Now !l want to nove over to

TELRIC. And it seens that the FCC, in your view, is
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sayi ng, You nust use TELRI C and assune
fully-conpetitive conditions, and it sinply does not
matter what the reality is. Am|l right so far?

A Yes, you are.

Q Ckay. And so if that is correct, is there
any anal ogous effect if there's really a nonopoly and
there's not really conpetition, or does the TELRIC
pricing kind of work itself out in the right way by
pronpting | easing of UNEs where that |ooks good and
buil ding other facilities where that's preferable?

In other words, under your view, it's not
going to matter -- the answer to ny question is not
going to matter, since we would be bound to do the
TELRI C formul a anyway, but does it have a negative
effect of the type in ny anal ogy?

A Let me take it in several steps, because, as
| see it, there are a nunmber of aspects to that
question. TELRIC, in itself, which is based on
forwar d-1 ooki ng econom ¢ costs, rather than
hi storical cost, as is rate of return regulation, was
i ntroduced because, whether or not the market was, in
fact, conpetitive, they were trying to set prices as
if the market were conpetitive. So they said -- in
conpetitive markets, a firmwould [ ook to the future,

rather than to the past. So let's base it on
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forward-| ooki ng econom c costs, because that's what
firmse would do in a conpetitive market. \Whether or
not this conpany is conpetitive, we're trying to
replicate the prices in a conpetitive market.

So they said, Well, there are four inputs to
a UNE cost study that's going to lead to those prices
that are nmeant to reflect the prices that would occur

in a conpetitive market. There are --

Q Before you go there --
A Yeah.
Q -- | think all you need to do is stay at the

I evel of, Al right, assunming those prices, assuning
-- assunming we obey TELRIC, as you say we're required
to do, and set those prices that way, ny question is
if real life isn't that way, is there any
correspondi ng consequence as there is in nmy first
exanpl e, where, if you deregul ate because you're
assumng a fully-competitive situation when there
really isn't, you can denpnstrate pretty clearly, |
think, that you're never going to get the conpetition
that you were -- that your nodel is assum ng

A Okay. The goal of the TELRIC pricing is not
only to set prices that approxinmate the prices that
woul d occur in a conpetitive market, but to send

correct econonic signals to the participants. So
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they said, rather than decide in advance how many
conpetitors there should be, or trying, through

regul ation, to dictate the outcone, we should let the
prices be set to send the correct signal and then, if
conpetition arises, it was because it was good
conpetition. W sent the correct signal, and the
conpetition that arises would be because firnms were
able to provide tel econmmuni cations service at either
a lower cost or a higher quality than that of the

i ncunmbent .

And so the idea was that if we set prices
that approximate the prices in a conpetitive market,
we shouldn't care whether there ultimately is
conpetition. The market will take care of that if
there are efficient conpetitors and they have the
correct econonic signals. W don't try to give them
bel ow-cost rates just to get the conpetition. W set
the prices at forward-Iooking econom c cost and then
if they can beat that, if they can provide service at
a lower cost, they should enter the market and
society will be better off. |If they can't do it,
they should not enter the market, but we would stil
have -- we would still have a price system which sent
us the right signals so we could efficiently depl oy

society's resources.
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1 Q In order for all of that to work, is it

2 necessary for the incunmbent to have denonstrated it
3 has opened its network up to conpetitors, a la 271?
4 A Well, I'"mnot an expert on all of the

5 aspects of 271, but it should -- the -- ny

6 interpretation would be that once you've set the

7 price and you've deci ded which el enents shoul d be

8 offered to the conmpetitors, that is, you decide it

9 should be a loop and it should be a switch, that

10 then, when the conpetitor orders that switch, it

11 shoul d be provided in a tinmely fashion at the

12 conpetitive price.

13 Q In other words, the execution of the selling
14 of the elenments has to al so be operational ?

15 A. Yes, and if a firm achieves 271 approval,
16 then that supposedly -- they've passed that test.

17 They have net the operational standard that they can

18 provi de those elenents in a tinely manner.

19 CHAI RWOVAN SHOWALTER:  Thank you.
20
21 EXAMI NATI ON

22 BY COWM SSI ONER HEMSTAD:
23 Q I just have a relatively sinple question.
24 The risk premiumthat you describe as required, how

25 does that translate into the price for the stock of
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Verizon or simlarly-situated conmpanies? | take it
it would follow fromthat that the price of that
stock is depressed as a result?

A The price -- without -- the cost of capital
let's say, is 12, and if the conpany doesn't earn 12,
their price would be depressed. |If they earn 12,
their price would stay the sane. So if you set rates
in this TELRI C environment based on a inputted cost
of capital of 16, and you recognize the TELRI C
framework that is biased against actually earning the
16, the conmpany could actually earn 12, according to
my calculations. And in that environnment, the price
ought to say the same. That is, if you set prices
that are based on an inputted cost of capital of 16,
that allow the conpany to actually earn 12, and 12 is
the cost of capital, then the stock price would stay
the sane as it is.

Q I'"mnot sure | understand what you just told

A Okay.

Q Try agai n.

A Do you want to ask a foll owon question, or
should | try to explain it differently?

Q Well, put it this way. |If, as a

generalization, regulators aren't adequately taking
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1 into account the need for the risk prem umthat

2 you' re describing --

3 A The price will go down.

4 Q -- the price will go down?

5 A. You' re exactly right.

6 Q And at least in the long run, a random wal k

7 down Wall Street and all that kind of stuff, al

8 information is known and priced accordingly so that
9 then the -- if the risk premiumisn't acknow edged,
10 then the prices for the stocks will be accordingly

11 depressed?

12 A Yes, they will.

13 COW SSI ONER HEMSTAD: That's all | have.
14 JUDGE MACE: Commi ssioner Oshie.

15 COW SSIONER CSHI E: | don't have any

16 guestions. Thank you.

17 JUDGE MACE: M. Kopta, Ms. Smith?

18 Redi rect ?

19 MR. BERRY: No redirect. Your Honor

20 JUDGE MACE: Yes, |I'mgoing to address it.
21 Under Chai rwoman Showal ter's exam nation, you tal ked
22 about the cal culation of the option and the nodel

23 that was used. |Is that available to the Conm ssion?
24 Has that been provided in any discovery or part of

25 your --
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THE W TNESS: Yes, it has.

JUDGE MACE: And could you point us to where
that is?

THE WTNESS: 1'd have to consult with
someone to do that.

JUDGE MACE: That's possible. Can you track
down where that is, and if it's not being nade part
of the record, we'd want to nake a bench request for
it.

MR, BERRY: We'd be happy to do that, Your
Honor .

JUDGE MACE: If you'd do that. Thank you.
Thank you. You're excused. Let's go to the next
wi tness, which is Dr. Selwyn.

Wher eupon,

DR. LEE L. SELWWN,
havi ng been first duly sworn by Judge Mace, was
called as a witness herein and was exam ned and
testified as foll ows:

JUDGE MACE: Pl ease be seat ed.

DI RECT EXAMI NATI ON
BY MR KOPTA:
Q Dr. Selwn, would you state your nanme and

busi ness address for the record, please?
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A. Yes, ny nanme is Lee L. Selwyn, spelled
S-e-l-wy-n. M business address is Two Center
Pl aza, Suite 400, Boston, Massachusetts, 02108.

Q And do you have before you what have been
marked for identification with the follow ng nunbers,
651-T, which is the direct testinony of Lee L.

Sel wn, 652 through 656, which are the Attachnents 1
through 5 to that testinmony, and 657-TC, which is the
confidential surrebuttal testinmony of Lee L. Selwn?

A Yes, | do.

Q Were those docunents prepared by you or
under your direction and control ?

A They were.

Q Do you have any corrections to make to them
at this tinme?

A Yes, | do. | have two small corrections in
-- | guess it's going to be Attachment 4, which would

be 655, | believe; is that right?

Q That's correct.
A In Appendix One to Attachnent 4, which is
about 10 pages into the docunent -- unfortunately,

this page appears not to have a page nunber on it.
There's a table that is identified as Data Underl yi ng
Appendi x One, and if you go down the list to -- on

the left-hand columm to the first entry for Quest,



0702

1 where it says 2H00, which would inply second half of
2 2000, that should be 1H00. |In other words, it should
3 be the first half of 2000.

4 And simlarly, about five or six pages

5 further on, there's a simlar table, identified as

6 Dat a Underlyi ng Appendi x Two, and the correspondi ng

7 figure there, again, the first Qwvest entry, which is
8 shown as 2H00, should be 1HOO0. Those are the only

9 corrections of which |I'm aware.

10 Q And as corrected, are the exhibits we've
11 identified correct, to your know edge?

12 A Yes, they are.

13 Q If I asked you the questions and requested

14 the sane information that are contained in these

15 exhi bits today, would you provide that sane

16 i nformati on?
17 A Yes.
18 Q Have you prepared a brief summary of your

19 testi mony?

20 A Yes, | have. | wll try to be very brief.
21 JUDGE MACE: Dr. Selwyn, do you want ne to
22 gi ve you a 30-second warning or are you --

23 THE W TNESS: That woul d be fine, although
24 I"'mgoing to do nmy best to finish in two and a half

25 m nutes, so --
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JUDGE MACE: All right.

THE WTNESS: M testinony devel ops the
applicable cost of capital for use in TELRI C studies
in a manner that is consistent with the prescription
established in the Wreline Conpetition Bureau's
Virginia Arbitration Order. That uses the Capita
Asset Pricing nodel, which | have updated to refl ect
the very significantly | ower market rates and
interest and other related rates that have occurred
in the three years since the data that underlied the
determination in that case was adopted.

| have al so adjusted the risk prem umthat
the FCC Wreline Conpetition Bureau had consi dered at
the tinme to reflect risks that are specific to the
t el ecommuni cations industry, and nore particularly to
t he i ncunbent LEC conponent of the conglonerate
Regi onal Bells, which are -- themsel ves consist of a
nunber of entities having not thenselves in the
i ncunbent | ocal exchange carrier business.

Consequently, |'ve devel oped a cost of
capital | believe is consistent with the Bureau's
prescription, and it contains the additional analysis
t hat was expressly requested or suggested by the
Bur eau at Paragraph 90.

In addition, my reply testinony, ny
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surrebuttal testinony on May 12th addresses the
suggesti on by Professor Vander Wi de that his proposed
cost of capital is consistent with AT&T' s internal
cost of capital. And as | point out there, the
figure that he cites is, in fact, not a cost of
capital at all, but is a project-specific hurdle rate
that reflects the unique condition of AT&T, as a
non- dom nant conpetitive | ocal exchange carrier, and
is certainly not anything that would be renotely
applicable to an i ncunbent TELRIC, as incunbent UNE
provi der, such as Verizon.

JUDGE MACE: You have 30 seconds.

THE W TNESS: That conpletes ny sumary.

JUDGE MACE: Thank you.

MR. KOPTA: | nove for admission of Exhibits
651-T, 652 through 656, and 657-TC.

JUDGE MACE: Any objection to the adm ssion
of those exhibits?

MR BERRY: No, Your Honor.

JUDGE MACE: Hearing none, |'ll admt them

CHAl RAOVAN SHOWALTER:  Dr. Selwyn, | don't
know if it was because of your three mnutes or not,
but you were speaking pretty fast, so | hope in your
answers you can slow down a bit.

THE WTNESS: | will try.
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CHAI RMOVAN SHOWALTER:  Thanks.

MR, KOPTA: Dr. Selwn is available for
Cross-examni nati on.

JUDGE MACE: M. Berry.

MR, BERRY: Thank you, Your Honor.

CROSS- EXAMI NATI ON
BY MR BERRY:
Q Good afternoon, Dr. Selwn.
A Good afternoon.
Q My nanme's Brad Berry, and |'m one of the
| awyers, as you know, representing Verizon. |'d |like
to --

JUDGE MACE: M. Berry, is your nicrophone
on? Wbuld you doubl e check that?

MR. BERRY: It is.

JUDGE MACE: Al right.

MR. BERRY: 1'Il keep it close and speak up.

JUDGE MACE: Thank you.

CHAl RWOVAN SHOWALTER: O, you know, anot her
thing to do is get it soit's in front of you, so
when you're looking, it will pick up the whole thing.

JUDGE MACE: Like this.

CHAl RMOMAN SHOWALTER:  Yeah.

Q Dr. Selwyn, 1'd like to start by | ooking at
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an excerpt of the FCC s Triennial Review Order, and
we have excerpts of that for you and for the Bench

CHAl RMNOVAN SHOWALTER: M. Berry, | don't

think -- you have to be speaking straight into it, so
you have to turn it -- get it so that it's angled at
you.

JUDGE MACE: It has to -- there you go.
MR. BERRY: Thank you.
Q Dr. Selwyn, |I'mgoing to focus on Paragraphs

680 and 681. And to read briefly fromthose,
Par agraph 680 says, To ensure that UNE prices set by
the states appropriately reflect the risks associ ated
with new facilities and new services, we think it
woul d be hel pful to clarify two types of risks that
shoul d be reflected in the cost of capital. First,
we clarify that a TELRI C-based cost of capital should
reflect the risks of a conpetitive market. The
objective of TELRIC is to establish a price that
replicates the price that would exist in a market in
which there is facilities-based conpetition. 1In this
type of conpetitive market, all facilities-based
carriers would face the risk of losing custonmers to
other facilities-based carriers, and that risk should
be reflected in TELRIC prices.

Then, going on to Paragraph 681, the
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Commi ssi on says, W do not agree with AT&T that
Par agraph 702 of the local conpetition order limts a
state to considering only the actual conpetitive risk
t he i ncumbent LEC currently faces in providing UNEs.
Because the objective of TELRIC pricing is to
replicate pricing in a conpetitive nmarket and prices
in a conpetitive narket would reflect the conpetitive
ri sks associated with participating in such a market,
we now clarify the states should establish a cost of
capital that reflects the conpetitive risks
associated with participating in a type of market
that TELRI C assunes. The Conm ssion specifically
recogni zed that increased conpetition would lead to
i ncreased risk, which would warrant an increased cost
of capital. Although Paragraph 702 states that there
was |inmted conpetition for network el ements at the
time, it is clear fromour discussion of the TELRI C
met hodol ogy that future conpetition nust be
considered in assessing risk.
Dr. Selwyn, did | read that correctly?

A | believe so.

Q Now, Dr. Selwn, the sentence that | want to
focus on is the one that says that increased
conpetition would lead to increased risk, which would

warrant an increased cost of capital. Do you see
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t hat ?

A Yes.

Q Do you think, Dr. Selwn, that that gives --
that that mandates that the cost of capital used in
setting UNEs be increased to warrant the increased
ri sks of future conpetition?

A Well, as a general statenent, to the extent
that there is increased conpetition in the future or
that we are hypot hesi zing i ncreased conpetition in
the future, for -- specifically for the rate
el ements, the network elenents that will continue to
be made avail able as UNEs, if that conpetition would,
in fact, confront the incunbent with increased risk,
then I would agree that it would be appropriate to
refl ect those increased risks.

However, it would not be appropriate and, in
fact, would constitute a cross-subsidy of the
i ncunbent's ot her business activities if risks
associated with incunbent activities other than -- or
affiliate activities, other than the provision of
UNEs, were considered in determ ning the actual |eve
of risk that was confronting the incunbent in the
provi si on of UNEs.

Q Dr. Selwyn, should this Comr ssion increase

the cost of capital to reflect the risk of future
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1 conpetition?

2 A If it finds that the risk of future

3 conpetition specifically for those unbundl ed network
4 el enents that Verizon will continue to be required to
5 provi de under the Triennial Review Order, as

6 subsequently partially vacated by the D.C. Court of

7 Appeal s, to the extent that the Commi ssion finds that
8 those UNEs represent a source of increased risk, then
9 it should nake the adjustnment that the FCC has call ed
10 for, but it should not |ook at the conglonerate

11 Verizon or, worse, a collection of unrelated

12 conpani es and sonehow i nfer or inpute that risks

13 associ ated with the beer business or the cosnetics

14 busi ness or the cruise |ine business or the retai

15 chai n busi ness have anything at all to do with the

16 risks that Verizon confronts in the provision of

17 those UNEs that -- for which inpairnent continues to
18 exi st .
19 Q Dr. Selwyn, let's start with the benchnark

20 of the cost of capital that would be appropriate for
21 Veri zon Northwest in connection with providing | oca
22 exchange service in the state of Washington. Should
23 that cost of capital -- would that cost of capita

24 appropriately be increased to reflect future

25 conpetition, in your view?
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1 A. Ckay. Let ne respond first that I am not

2 of fering an opinion here, nor have | undertaken to

3 exam ne the cost of capital that would apply to

4 Verizon Northwest's regul ated services within the

5 Commi ssion's jurisdiction in the state of WAshi ngton

6 That is not the question that | was asked to address,

7 it's not the question before the Commission in this
8 case.
9 VWhat |'ve done is to apply the nethodol ogy

10 that was prescribed in the Virginia Arbitration Order
11 usi ng Capital Asset Pricing Mdel, updated to reflect
12 current rates and adjusted to reflect risks that |

13 believe are appropriately identified and identifiable
14 forward-| ooki ng, prospective risks confronting

15 i ncunbent | ocal exchange carriers, as captured in

16 mar ket determ nations of prices of the conglonerate
17 RBOCs and st and-al one conparabl es who are in

18 busi nesses sinmilar to the non-ILEC busi nesses of the
19 RBCCs.

20 Q Shoul d the cost of capital be increased or
21 not, Dr. Selwn?

22 A I"mgoing to stand on my answer. | haven't
23 addressed the question that you asked ne to respond
24 to.

25 Q So was your answer | don't know?
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A. No, ny answer is what | said.

Q Now, |'m assum ng, fromthe answer you gave
to my first question, that you think it's
di scretionary whether to increase the cost of capita
to reflect the risks of future conpetition. 1Is that
a fair statenent?

A No, it's not.

Q Is it nmandatory?

A The Conmi ssion, as | understand it, and as |
believe to be the case, is to maintain and adopt the
nmet hodol ogy set out by the FCC in the Virginia
Arbitration Oder, which, by the way, is not what Dr.
Vander Wei de has done. He used an entirely different
met hod that, in fact, was rejected by the Bureau in
t hat order.

CHAl RWOVAN SHOWALTER:  |' m sorry, but can
you be very clear? Wen you're talking about the
Virginia Arbitration Order, | think you said
mandat ed, or maybe not, but is -- just as an
el ementary proposition, is it the case that you are
adopting or endorsing the Virginia Arbitration Order,
but not that you think it's binding on us? 1Is that
correct? | just --

THE WTNESS: That is correct. The Virginia

-- it is ny understandi ng, Chairwoman Showal ter, that
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the Wreline Conpetition Bureau, in the context of
t hat proceedi ng, was acting on del egated authority.
And its ruling has the effect of |aw subject to a
ruling to the contrary by the full Commission. It's
not |ike an ALJ decision that ultinmately has to be
adopted. In that order, the Comm ssion adopted --
the Bureau, to be nore precise, adopted a specific
nmet hodol ogy for applying what it considered to be the
appropriate nmethod of determ ning the cost of capita
that would reflect the risks that -- of the type that
are being described in the paragraphs that counse
cited fromthe TRO

And what it did in that order was to assune,
for lack of further information, that the risks
associated with the market, with stocks generally,
the S&P 500 in particular, that the average risk was
a reasonabl e surrogate for the risks confronting an
| LEC providing UNEs in the face of facilities-based
conpetition. But in that very sanme Paragraph 90, in
whi ch the Commi ssion made that determination --

CHAI RWOVAN SHOWALTER:  Agai n, you just said
the Conmission, and this is where | --

THE WTNESS: |'msorry.

CHAl RWOVAN SHOWALTER:  You need to be

preci se here, because when we hear the word
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Commi ssion, we're assunmng the FCC, that is, the five
Conmi ssi oners, and we ask expressly that if that's
not what you nean, be precise.

THE WTNESS: GOkay. |I'msorry. Again, if |
use the word Conmission, it is inadvertent. | nean
the Bureau acting on del egated authority fromthe
Commi ssion. The point is the order has the sane
effect as if it were issued by the Comni ssion,
subj ect to a determnation by the Conmmi ssion to the
contrary. It is, in effect, an operative, it's not
like an ALJ decision, and it is generally being
treated in the industry as if it is a Comni ssion
order, and that's why | am-- | apol ogize for being
| ess than precise, but that's the basis for ny |ack
of precision. The Bureau --

CHAl RWOVAN SHOWALTER: M. Selwyn, or Dr.
Selwyn, | really -- | was alnost rude in interrupting
M. Berry's questions. It was on this issue of the
wireline versus FCC that | really just wanted to stop
you at that.

THE W TNESS: Ckay.

CHAl RWOVAN SHOWALTER:  We should turn it
back to M. Berry.

MR, BERRY: Thank you.

Q So the question was is it nandatory or
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di scretionary for the Commri ssion to increase the cost
of capital to reflect the risks of future
conpetition?

A I think it is mandatory for the Comm ssion
this Comm ssion, to address the issue of whether
conpetition -- whether and the specific extent to
which future conpetition for unbundl ed network
el enents that Verizon will continue to be required to
provide justifies an increase in the cost of capital
It is not mandatory for the Conmi ssion to adopt a
particular risk adjustnment. It may determ ne that
the risk adjustnment should be nmore or less than the
ri sk adjustment, for exanple, that the Bureau had
adopted in the -- in the Virginia Oder, or it may, |
suppose, find that a different nethod for adjusting
for risk might be appropriate, such as, for exanple,
your witness is recommending a totally different
met hod that was exam ned and rejected by the Bureau
and that is the cancellable | ease stuff.

Q So is your testinony, then, Dr. Selwn, that
t he Commi ssion should adjust the cost of capital to
reflect future conpetition, but the nethod that they
use in doing that is discretionary?

A Let me be absolutely clear. | believe |

stated already, but 1'll state it again, the
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Commi ssi on shoul d determ ne whether or not an
adj ustmrent -- whether and the extent to which an
adjustnment for -- to the cost of capital to reflect
the risk of UNEs that Verizon will continue to be
required to provide is appropriate and, if it is, it
shoul d determ ne the extent to which -- the anount of
such an adjustnent. But it is not nmandated to
conclude, in my opinion, that, in exam ning the
matter nore carefully and nore thoroughly than the
Bureau admttedly, by its own adm ssion, had done in
that matter, if it determ nes that the adjustnent
shoul d be snaller or perhaps close to zero, then
believe that is within its discretion

Q Well, Dr. Selwyn, 1'mfocused on the FCC s

Order and not the Wreline Conpetition Bureau's

Order.
A Okay.
Q I'm focused on the paragraphs | just read,

and | think correctly, which said that increased

conpetition would warrant an increased cost of

capital. So | just want to be clear about that.
A Okay.
Q Woul d your answer be the sane with that

under st andi ng?

A Okay. Wth that understanding and with the
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recognition that the word increase can be, you know,
ei ght decimal places one, | would probably agree.

Q Now, Dr. Selwn, you advocate the use of the
capital asset pricing nodel to determ ne the cost of
equity in determning the cost of capital in this
proceeding; is that correct?

A Well, to be clear, | do advocate it, but the
basis for which I'm-- on which I'mrecomending its
use here is because that is the nmethod that was
adopt ed upon consi deration of alternative methods by
the Bureau. And what |'ve done here is sinply take
the nethod adopted by the Bureau and update it.

Q This is -- the Bureau al so accepted

Verizon's cost of capital nunber in that proceeding,

inthe -- the Wreline Conpetition Bureau; isn't that
true?

A. I'"'mnot sure to what you're referring.

Q I"mreferring to the Virginia Arbitration

Order that you've been referring to.

A Yeah.

Q And you have said that you've used the sane
nmet hodol ogy that the Bureau used. And ny question
was isn't it true that the Bureau accepted the cost
of capital recommendati on nade by Verizon in that

proceedi ng?
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1 A. I don't think so. Verizon was supporting

2 t he use of discounted cash flow and --

3 Q I'"mtal ki ng about the nunber, Dr. Selwn
4 A That's not my recollection
5 JUDGE MACE: Can | just -- it appears to ne

6 that this has been made an exhibit in this case, and

7 if you have a citation to the exhibit, that may

8 resol ve the issue.

9 MR. BERRY: Your Honor, would | -- if it's
10 okay, I'd like to get that nunber, but proceed with
11 nmy questioning and we can cone back to it later
12 JUDGE MACE: Sure, that's fine. | just
13 offered it as a suggestion
14 MR, BERRY: Thanks very nuch.

15 Q Now, in using or proposing the use of the

16 Capital Asset Pricing Mbddel to determ ne the cost of
17 capital in this proceeding, the nodel requires that
18 you cal cul ate three variables, is that correct, the
19 beta, the risk-free rate of return, and the market

20 ri sk prem unf

21 A Yes.

22 Q And the risk-free rate of return there and
23 the market rate of return are added together and then
24 multiplied by the beta in order to deternine the cost

25 of equity using the CAPM is that correct?
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A. Yes, that's correct, basically.

Q Now, one of those -- and if the beta goes
up, then, therefore, the cost of equity goes up
correct, other things equal?

A. And conversely, if the beta goes down, the
cost of equity goes down.

Q And if the cost of equity goes down, other
t hi ngs equal, the cost of capital goes down?

A Correct.

Q Now, one of the central prem ses of the
testinmony you filed in this proceeding is that the
betas for the Regional Bell Hol di ng Conpani es do not
reflect accurately the betas of the I|ILEC subsidiaries
of the other Regional Bell Hol ding Conpanies; is that
correct?

A Yes.

Q And your thesis is that, because the
Regi onal Bell Hol di ng Conpani es have diversified away
fromtheir core |ocal exchange business in recent
years, that fact is what explains the increased betas
we' ve seen for the Regional Bell Holding Companies in
the recent past; is that fair?

A Yes, yes.

Q And you performed an anal ysis to denpnstrate

t hat .
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1 A. | performed two anal yses.

2 Q You ran -- you ran three regressions to show
3 that the betas of the Regional Bell Holding Conpanies
4 have been movi ng upward because they have been

5 di versifying; correct?

6 A Yes.

7 Q And t hose regressions also showed, as you've
8 testified, that increases in |ocal conpetition

9 conpetition for |ocal exchange service, have not had
10 any material inmpact on the increased betas of the

11 Regi onal Bell Hol di ng Conpani es?

12 A That's correct.

13 Q And woul d you say that the conclusions that
14 you reached in those regression anal yses are the

15 foundation for the conclusions that you -- the

16 recommendati ons that you've made in this proceedi ng?
17 A As | said, | perforned two anal yses. The
18 first one | did was the regression approach that |

19 originally presented in a declaration | filed with

20 the FCC about five or six nonths ago in the TELRIC
21 NPRM And as a result of sone response testinony

22 that came in in that docket, not unlike the response
23 testinony that Dr. Vander Wei de has offered here with
24 respect to those regressions, although | don't agree

25 with them we decided that an alternate approach
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could be considered in which | attenpted to
effectively take the conglonerate -- each of the
congl onerat e Regi onal Bells and break themup into
their principal business conponents, then apply to
each of the non-1LEC conponents the betas for

conpar abl e stand-al one entities, such as, for
exanple, in the case of wirel ess services, Nextel
AT&T Wreless and Sprint PCS, which are pure wireless
carriers that are publicly-traded, and then, through
that analysis extract the betas that would be
associated with the | LEC conponent when the non-ILEC
conmponents are renoved

And the results were consistent with the
regression and | believe corroborate the origina
findings, which is why | think the regression was a
perfectly reasonabl e approach to begin with.

The regression, however, additionally
denonstrates, and even the rerun of the regression
that Dr. Vander Wi de did al so denpnstrates that
conpetition does not affect risk.

Q Is it fair to say that the regression
anal ysis that you ran is an inportant part of the
testinony that you're providing in this proceedi ng?
A It's one of them but | think the second

anal ysis is even nore conpelling.
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Q Do you stand by the regression analysis, Dr.

Sel wn?
A | stand by it, yes.
Q Okay. Now, the regression analysis that

we' ve been tal king about is described in Attachment
Four to Exhibit -- let ne get it right here.

JUDGE MACE: | think it's actually marked in
Exhibit 655, if it's the one | think. The one you're
referring to is the Technical Description of
Regr essi on Anal ysi s?

MR. BERRY: Yes, Your Honor. Thank you.

JUDGE MACE: It's marked 655.

Q That's described at Exhibit 655; correct --
A Yes.

Q -- Dr. Selwn?

A That's correct.

Q Now, in doing this regression analysis, you

had to determne the extent to which the Regiona
Bel | Hol di ng Conpani es had diversified away froma
their core |l ocal exchange service; correct?

A Yes.

Q And t he neasure that you used to determ ne
the extent of their diversification away fromthe
core | ocal exchange busi ness was the percentage of

| LEC and non-| LEC assets held by each of the Regiona
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Bel | Hol di ng Conpani es; right?

A That's correct.

Q And you cal cul ated those nunbers based on
10-Ks and 10-Q that the companies had filed with the
Securities Exchange Comm ssion; correct?

A. In general, yes.

Q Are there -- | noticed you said generally.

I want to nmake sure that | understand any exceptions
you're making to that.

A. Well, there were sone adjustnents that were
made in the second approach because of limtations on
the availability of 10-K data, but, for exanple,
facilities-based conpetition data came from FCC
reports, the betas came from Val ue Line, and the
non- 1 LEC conponent, | believe, came fromthe 10-Ks.

Q And 10-s?

A.  And 10-Gs.

Q And what you did was -- and by the way, did
you performthis analysis personally or was this
performed by sonebody under your direction?

A It was performed under ny direction, but
wi th my assistance.

Q And supervi si on?

A And supervi si on.

Q You cal cul ated the non-1LEC assets for
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1 si Xx-nmonth periods; is that correct?

2 A That's correct.

3 Q Okay.

4 A And in this regression, yes.

5 Q Ckay. Well, that's three regressions,

6 right, because you ran three separate regressions to

7 reach this conclusion that the increases in the RBHC
8 betas had nothing to do with conpetition?

9 A Well, in Appendix -- the third one, it was

10 done on an annual basis, because the data wasn't

11 avail abl e consistently nore granularly than that.

12 That's why | qualified it. But for the first two,

13 it's done on a sem -annual

14 JUDGE MACE: Dr. Selwyn, |I'm having trouble

15 under st andi ng what you're sayi ng.

16 THE WTNESS: |'m sorry.

17 JUDGE MACE: If you could nmake sure that you
18 keep your tone |evel and not drop off, that would be

19 hel pful .

20 THE WTNESS: For the first two, Regressions
21 One and Two, as described in Exhibit 655, the figures
22 shown are sem -annual. For the third, they're

23 annual

24 Q And if we | ook at the second page of Exhi bit

25 655 -- oh, I'msorry. Exhibit 655 has a coupl e of
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appendi ces; is that correct?
A That's correct.
Q If we | ook at Appendi x One to Exhibit 655 --

JUDGE MACE: Apparently sonehow this exhibit
escaped pagination. |'mnot sure how that happened,
but --

THE WTNESS: Well, there's pagination
through, in the technical description, A4-8, and then
it continues on with the three appendices. And |
apol ogi ze. The appendi ces do not appear to have page

nunbers, so it's the first appendi x foll ow ng page

A4-8.

JUDGE MACE: Thank you.

CHAIl RWOMAN SHOWALTER: What page?

JUDGE MACE: There's no page. That's the
problem It's just the first one after April 8.

MR. BERRY: If we go to A4-8 and then turn
two nore pages, you'll be on the page that -- there's

a table that says Data Underlying Appendi x One, and
that's where | want to be.
CHAI RWOVAN SHOWALTER:  Thank you.
Q Now, this table shows the inputs that you
used for your regression analysis; is that right?
A Yeah.

Q And it shows information on Bell South,
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Qnest, SBC and Verizon; right?

A Yes.

Q And for each of those conpanies, it has data
for the first and second half of each year, fromthe
begi nni ng of 2000 through the first half of 2000 --
well, actually, it's different for the different
conpani es. For Bell South, you have data fromthe
first half of 2000 through the first half of 2003;
right?

A. Ri ght .

Q For Qwest, you have data for the first half
of 2000 through the second half of '02; right?

A Correct, correct.

Q By the way, | have a question about that,
since we're on it. You corrected the Qunest entry and
said that the first entry should have been for the
first half of 2000, but that |eaves us with no entry

for the second half of 2000.

A That's correct.

Q And is that intentional or --

A This was the data that was available. There
were gaps in the -- in sone of the components of the

data that we wanted, particularly with respect to
betas as a result of nergers. Consequently, we were

able -- we only used data where we had consi stent
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data for each of the three variables in a given
peri od.
Q For SBC, we have data fromthe first half of

t he year 2000 through the first half of 20083;

correct?
A Yes.
Q And then, for Verizon, we have data for the

first half of 2000, second half of '02, and the first
hal f of '03; right?

A That's correct.

Q Now, we have -- the inputs that were used
were the beta, conpetition variable, the non-ILEC
vari able, and | everage; correct?

A Yes.

Q And for the beta, the beta for the periods
-- by the way, did the betas conme from Val ue Line?

A Yes.

Q Okay. So the betas are the betas that were
observed for the time period that's represented in
the year columm; right?

A Yes.

Q But the variables, the nunbers for the other
vari abl es, conpetition, non-I1LEC, and | everage, were
| agged by one period; right?

A That is correct, to nmake them conparable to
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the beta, because the beta is presented as
prospecti ve.

Q Okay. So when we see, for Bell South, first
half '00, and we see the beta, .825, that is the beta
for that tinme period, but the non-1LEC percentage for
that time period is actually the non-1LEC percentage
for the second half of '"99; is that correct?

A That's correct.

Q Okay. And so on for the rest of the nunbers
on the table; right?

A That's correct.

Q Al right. Now, for the end of year
nunbers, the end of year non-1LEC nunbers, so we're
tal ki ng about the non-1LEC calculation for, let's
say, the end of 2000, which would actually show up on

your chart as the first half of '01; right? So when

you were calculating -- let me stop there. |Is that
correct?
A. I"'msorry. Let me have that question again.
Q I'"'msaying on this -- this is, again, on the

| aggi ng concept.

A Ri ght .

Q So | want to tal k about the end of year
data. If we are trying to focus on what was the

non- |1 LEC percentage of assets for the end of a
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particul ar year --

A Ri ght .

Q -- we would l ook at the next period -- for
exanmple, if we're | ooking for the end of 2000, we
woul d | ook at the entry for the first half of '01
right?

A That's correct.

Q Okay. And the end of year data would have
been taken fromthe 10-Ks and 10-(s that we tal ked
about earlier; is that correct?

A Yes.

Q Dr. Selwyn, with respect to Bell South, in
| ooki ng at the non-1LEC nunbers, | see that they go
from.4719 to .4260, .4170, .3868, .3861, .3670, and
then .3. So there was no increase in the percentage
of non-1LEC assets for Bell South; is that right?

A Right, and if you notice, the beta itself
al so went down during that period.

Q Okay. So in your view, this ties to your

concl usion that, you know, that the non-ILEC

percentage is reflected -- or inpacts the beta,;
right?

A Yes.

Q Okay. Let's focus on -- let's focus on SBC

for a second. 1'd like to hand you the 10-K for SBC
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for the year 2002, which --
A | think you provided that.
Q Yes.

JUDGE MACE: Is that -- that's what's been
mar ked 6627

MR. BERRY: 662, Your Honor. Thank you.
And because it's a big docunent, we've al so prepared
some excerpts so that you don't have to flip through
all the pages to get to the ones that | want to focus
on. and with your perm ssion, Judge Mace, we'd like
to set up sone bl ow ups of certain pages to neke it
easier for -- easy for the Bench to follow along if
you think that mght be useful.

JUDGE MACE: Let's take a recess of 15
m nutes while you get that ready.

MR. BERRY: Thank you.

(Recess taken.)

JUDGE MACE: Let's be back on the record. |
was advi sed by Conmi ssioner Henstad that he'd |ike us
to go ahead. He'd be joining us shortly.

Q Okay. Now, | am -- before |looking at the
10-K, Dr. Selwn --

JUDGE MACE: You need to adjust your

m crophone, if you woul d.

Q Focusing on the table entitled Data



0730

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Under |l yi ng Appendix One, | just want to ask a couple
gquestions before turning to the 10-K. Is it true
that the assets -- under this calculation that you' ve

made of non-ILEC, that the assets of the Regiona
Bel | Hol di ng Conpany consists of |ILEC assets and
non- | LEC assets? Those are the two categories?

A | LEC assets and anything that was not an
| LEC asset was identified as non-1LEC. So in other
words, the non-ILEC was cal cul ated as a residual
essentially. That was the intent of the cal cul ation.
| apparently have nmade sone errors, but |'msure
we' |l learn about them

Q Now, so if we |look at the non-ILEC, just at
the top of the page, to take an exanple, of Bell South
of .4719, .4719?

A Ri ght .

Q That woul d nmean that the I LEC assets of

Bel | South for that sane tine period would be .5281

right?
A Ri ght .
Q Because the two nunbers have to add up to

one; correct?
A. That's what they're supposed to do. Right.
Q Now, what |'ve done on the blowp that we

prepared and on the page that | just gave you, Dr.
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Selwn, is to add a heading that says |ILEC at the
t op.

A Ri ght .

Q And | just picked a couple of time periods
for SBC, and for those time periods, those being the
first half of '03, as reflected in the second col um,
and the first half of '02, also as reflected in the
second colum, | have witten out, to the right of
your chart, the |ILEC assets. Do you see that?

A. As sinply one mnus the non-ILEC figure, |
assune; is that right?

Q That's correct.

A Okay. That's what they |ook like.

Q So ILEC for SBC for the first half of '02 is

. 38817
A Ri ght .
Q Wi ch, when added to .6119, equals one?
A Ri ght .
Q And ILEC, for first half '03, with regard to

SBC, is .3672, which, when added to .6328, equals
one?
A Correct. The arithnetic's correct.
CHAIl RWOMAN SHOWALTER: Can | just interrupt?
The chart here and the table in M. Selwn's

testi mony doesn't | abel what these are. Non-ILEC
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what and | LEC what ?

THE WTNESS: They're fractions. |n other
words, they're percents, except they're expressed as
deci mal s as opposed to percentages. So in other
words, .3672 would inply 36.72 percent.

CHAl RWOVAN SHOWALTER:  But what? Percent
what ?

THE WTNESS: Oh, of the assets of the
parent.

CHAl RWNOVAN SHOWALTER:  So in ot her words,
I"'mtrying to get a title, either on the whol e
document or on a columm, that describes what it is
that's in the colum, so what would be the right
title for the whole docunment or a colum?

THE W TNESS: The col um shoul d be Non-1LEC
Asset Percentage, or Non-|ILEC Asset Share, since
these are expressed as fractions and not percentages.

CHAI RMOVAN SHOWALTER:  Thank you

Q Okay. Now, we've already tal ked about the
fact that the right-hand variables, those are
conpetition, non-1LEC and | everage, are |agged by one
period; right?

A. Ri ght .

Q So if we look at SBC first half '03, the

non- 1 LEC percentage that's reflected there would be
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1 for the end of the year 2002; right?

2 A Yes.

3 Q And that woul d have come out of SBC s 2002

4 10-K report filed with the SEC, correct?

5 A Yes.

6 Q Now, and that's Exhibit 662?

7 A Correct.

8 Q I would like for you, if you would, to turn

9 with me to page 266 of Exhibit 662, which, in the

10 excerpt that we handed out, is the --

11 A | have it.

12 Q This is for the purposes of the Bench --
13 A Sorry.

14 Q -- as nmuch as you -- is the third to | ast

15 page of the excerpt. And there we see a heading --

16 A Actually, it appears to be the fourth to

17 | ast page of nmine. | guess that --

18 JUDGE MACE: It says at the bottom 266.

19 THE WTNESS: Yes, | seemto have two copies

20 of 273 on mine.

21 Q Apol ogies. | see there's a heading there
22 cal | ed Condensed Consol i dati ng Bal ance Sheets,

23 Decenber 31st, 2002; correct?

24 A Yes.

25 Q And woul d this have been the source of the
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1 i nformati on that you used to cal culate the ILEC

2 percentage and the non-1LEC percentage for SBC for

3 year end 20027

4 A | believe so, yes.

5 Q Dr. Selwyn, we see, if we go down the -- if
6 we go down to the specific listings of assets, we see
7 a line that says Total Current Assets; right?

8 A Ri ght.

9 Q And the next |ine says Property Plant and

10 Equi pnment, Net; right?

11 A.  Right.

12 Q Next says Goodwi || ?

13 A Al'l right.

14 Q Next says Investnents in Equity Affiliates?
15 A.  Right.

16 Q Next says Ot her Assets; right?

17 A. Yes.

18 Q And t he next one says Total Assets; correct?
19 A Yeah.

20 Q And if we stay on the total asset line and

21 go to the far right-hand side columm, we see a

22 nunber, 95,057. Do you see that?

23 A Yes.

24 Q And that reflects the total assets for the

25 SBC Regi onal Bell Hol di ng Conpany for year end 2002;
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correct?

A Yes, yes.

Q Now, and you nentioned this, and | just want
to reiterate it, that the cal culation that you can
meke based on this information is the percentage of
| LEC assets; right? And then you subtract that
nunber fromone to derive the percentage of non-1LEC

assets; right?

A That's correct.

Q Okay. So the denom nator in our fraction
will be 95,057, correct?

A Ri ght .

Q And for year end 2002, we are going to use
as the denom nator a nunber that, when divided by
95,057, will give us .3672; right?

A | believe you nisspoke. You neant
nunmerator, but other than that, that's correct.

Q Yeah, the nunber we're going to use as a
nunmerator will be a nunber that, when divided by
95,057, will produce a result of .3672?

A Ri ght .

Q And that will be our percentage of |ILEC
assets; correct?

A Yes.

Q Okay. Now, if you add -- if you stay on the
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tota

you' Il
A
Q

nunber

A

Q

you get 34, 908.

A

Q

di vide that 34,908 by 95,507 --

get .3
A
Q

right?

> O > O

assets line and you go to the second col um,

see a nunber there,

Yes.

17,341. Do you see that?

And in the very next columm, you see the

17,567; correct?

Yes.

And if you add those two nunbers together

Appears to be.

Is ny math right?

And if we divide that 94 -- excuse ne, if we

672; isn't that correct?

Yes.

excuse me, 95,057, we

And that's the nunmber we're | ooking for

Except it's wong.

well --

"Il admit it's wong.

Well, we're going to tal k about

it still.

It's wong, because it appears not to

i nclude Anmeritech and SNET.

Q
partic

A

Q

VWi ch are very big |LECs.

ular, is a very large |ILEC of SBC;

Last tine | | ooked.

They have assets,

don't they?

Anmeritech, in

correct?
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A. Well, | think that m ght be debatable, but,
yes, they have assets.

Q They have assets, they operate in a
five-state region, Chio, Indiana, Illinois, Mchigan
and W sconsin; correct?

A I've heard of them

Q And woul d you agree with ne that the assets
of those |ILEC subs of SBC are greater than zero?

A | imagine so. They're probably conparable
in magnitude to -- that's why | realized what the
problemis. And it's fairly obvious when it began
because if you | ook at SBC back on that chart, if you
| ook at SBC for the first half of '01, the percentage
there is .4375, and the following half is .6150, and
to the best of ny recollection, it was in between
that period when the Aneritech nerger closed, and
then, simlarly, the junp, as | see it, between first
hal f of '00, and second half of '00, it goes from.39
to .43, is when the SNET nerger --

JUDGE MACE: Dr. Selwyn, can you slow down a
little bit?

THE WTNESS: |'msorry. The junp from.39
to .43 is when the SNET nerger closed, so obviously
those apparently were included in Oher and were not

separately identified and we didn't pick them up.
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Q Well, let's let stick on that for just a
second, because | want to bring out a couple things
that you said. The assets for Ameritech, the second
colum that has the nunber 17,341, lists the assets

of Pac Bell; right?

A Yes.
Q And the third columm |ists the assets of
Sout hwestern Bell; correct?

A Correct.

Q Okay. Now, and the Other category includes
the other ILECs that are subs of SBC, right?

A Anmong ot her things.

Q Right. And if we |ook at page 264 of the
sanme exhibit, which is, on the excerpt, is the
precedi ng page, we can see there why the assets of
Ameritech and Sout hern New Engl and Tel ephone are not

i ncl uded separately and are included in the O her

col um?
A Yes.
Q If you look at Note 14, it says -- the

second paragraph, In accordance with SEC rul es, we

are providing the foll owi ng condensed consol i dating
financial information. The Parent colum presents

investments in all subsidiaries under the equity

met hod of accounting. W have |listed Pac Bell and
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SWBel | separately because we have guarant eed
securities that are |l egal obligations of Pac Bell and
SWBel | that woul d otherw se require SEC periodic
reporting. All other wholly-owned subsidiaries are
presented in the OGher colum. Consolidating
adj ust nent columm elinmnates the interconpany
bal ances and transacti ons between our subsidiaries.
What they're saying there -- would you agree
with me that what they're saying there is because SEC
guaranteed the debt of Pac Bell and Sout hwestern
Bell, they had to break out their assets separately
and file a report with the SEC regardi ng t hose
conpani es; correct?

A. I think it's just the opposite. |It's that
the debt of Pac Bell and SWBell are |egal obligations
of Pac Bell and SWBel | respectively, and they
therefore have to file 10-Ks, 10-Qs for those
conpani es, but for SNET and Anmeritech, the | ega

obligations are guaranteed by the parent. Therefore,

the subsidiaries do not file 10-Ks. | believe you
stated it in the reverse. |If | misheard you, then
apol ogi ze.

Q Ckay. Well, stay with ne, because | want to

make sure we get this clear. The second sentence of

t he second paragraph says, W have |isted Pac Bel
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and SWBel | separately because we have guarant eed
securities that are |l egal obligations of Pac Bell and
Sout hwestern Bel .

A Yeah, okay. That's what it says, but,
again, it's nmy understanding that the issue --
there's a provision -- there's several provisions
under which separate reporting is not required for
the subsidiaries. One is the nunber of bond hol ders.
| believe if it's less than 500, then they do not
have to file 10-Ks, 10-Qs for those subsidiaries.
Pac Bell and SWBell, | believe, have a sufficient
nunber of bond hol ders that those reports are stil
required and the other companies do not. | think
that's the basis for it. But, again, in any event,
they don't separately report it.

Q Okay.

CHAl RWOMAN SHOWALTER: Can | ask a
clarifying question on this exhibit, please? Bold
headi ngs, Parent, Pac Bell, Southwest Bell, Oher,
Adj ustnents and Total, are they supposed to be
al i gned over the colums bel ow them although they
are not?

THE WTNESS: |I'minterpreting it that way.

CHAl RWNOVAN SHOWALTER:  So there's six

colums and six | abels and we have to, in our brain,
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shove them over a coupl e col umms.

MR, BERRY: Unfortunately so.

CHAI RWOVAN SHOWALTER:  Thank you.

THE WTNESS: This material is typically
obtained fromthe SEC s so-cal |l ed EDGAR System
E-d-g-a-r, and | inmagine that it's in the -- whatever
conmput er spreadsheet format it is, it's offset
somehow in the printing. |I'minterpreting it the way
you' ve descri bed.

Q So Dr. Selwyn, | think we've agreed that
this .63289 | LEC nunber on -- for the first half of
'03 for SBCis wong; right?

A Well, in fact, |'"mprepared to agree that
probably -- certainly the nunbers from 2HO1 t hrough
1HO3 for SBC are wrong, and |'m specul ating, but it
appears that the nunmbers for 2HO0O and 1HO1 are al so
wrong for the same reason, but |I'mnot as sure -- |I'm
not certain about that.

Q The m stake that you made overstates the
non- |1 LEC percentage of the SBC -- of SBC, correct?

A Correct.

Q It understates the I LEC assets of the SBC
Cor poration; right?

A Yes.

Q I think you' ve already testified that the
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assets that you left out, principally the Ameritech
assets and the SBC assets, are substantial?

A SNET.

Q SNET, Sout hern New Engl and Tel ephone, are
substantial; correct?

A. How substantial they are, | don't know, but
they're probably -- certainly the -- Aneritech is
probably conparable to the 17 billion figure for Pac
Bel | and Sout hwest Bel |l .

Q Dr. Selwn, should we ignore your regression
analysis with regard to SBC?

A Actually, fixing these errors would probably
-- would likely inmprove ny regression, because if you
noti ce, SBC has betas, for the nost part, bel ow one,
and | think one of the reasons that the regression
results, for exanple, as Dr. VanderWide redid it
wi t hout Qwest, produced the result that it did, is we
had a situation where the input data showed high
non- |1 LEC percentages for SBC and relatively | ow
betas, and | believe that if we were to nmeke this
correction, the nodel would inprove and the results
woul d be nore consistent with the hypothesis that |
was attenpting to test, and | certainly appreciate
calling this to ny attention.

Q That's all speculation; right, Dr. Selwn?
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A No, it's not. Well, first of all, it's
easily tested, and | certainly --

Q Well, you've already tested it once, Dr.

Sel wyn; right?

A No, | haven't tested it with these
corrections. The effect of the corrections is easily
tested, but I can tell you that, by inspection of the
data, we had here the anonal ous situation of
relatively | ow betas for SBC, and the nodel was
| ooki ng at hi gh non-I1LEC percentages, which is
i nconsi stent with what the nodel hypothesis was
proposing. |f we make the corrections that you've
identified, and | certainly will do that, then, in
point of fact, we will have a situation where we have
relatively low non-1LEC and a relatively |ow beta,
which is exactly consistent with the nodel, and
woul d expect that the nmodel results would inprove.

Q Let's go back to the beginning. The
hypot hesi s you were testing was that the increasing
RBHC betas that we've been observing of |ate were
caused not by increased conpetition, but by increased
di versification; right?

A That's correct.

Q We now know t hat the increased

diversification that you purported to calculate is
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wrong; right? That's wong. Your nunbers are off.

A Sone of the data points are off, but
correcting themwould inprove the result of the
nodel. It would alnpst certainly provide a stronger
result, a nore -- a stronger regression result than
with the erroneous statenent, because the corrections
are consistent with the hypot hesis.

Q So the data would then show that non-1LEC
assets have not been increasing, but betas have?

A. No, sir. The nodel is testing the
rel ati onship between the beta and the non-ILEC
assets, and what it would show is that, for SBC
ri ght now we had a situation where we had non-LEC
percentages being fed to the nodel and relatively |ow
betas, that is, betas bel ow one. That's anonal ous to
t he hypot hesi s.

If we nake these corrections, we will have
t he sane betas, which are bel ow one, but now we'|
have rel atively | ower non-I|LEC proportions.
Therefore, the relationship that the nodel was
attenpting to exanmine will be stronger, not weaker,
and the nodel will produce a nore -- a -- it wll
better satisfy the hypothesis, denpnstrate the
validity of the hypothesis than would this erroneous

data. So | thank you for the correction, because it
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1 will inprove ny ability to nake this point.

2 Q Well, be that as it may, what we do know and
3 have established is that the nunbers for SBC are

4 nmostly wong; right? W' ve established that;

5 correct?

6 A Yeah.

7 Q Okay. Now, let's talk about Verizon for a
8 second. Still in Exhibit 662, and you have a couple
9 of appendices there, and also towards the back, I'm

10 going to count this, count out the nunmber of pages
11 fromthe --
12 JUDGE MACE: Are you tal king about your

13 excerpt that you supplied us or the actual exhibit?

14 MR. BERRY: This is the actual exhibit, Your
15 Honor .

16 JUDGE MACE: Okay.

17 THE WTNESS: |'msorry, 662 is the 10-K

18 is the SBC 10-K
19 MR, BERRY: |'msorry, |I've got you on the

20 wrong exhibit.

21 THE W TNESS:  Okay.

22 Q This is 655

23 A. Ckay.

24 Q You have an attachnent there | abel ed Data

25 Sources that starts 10 pages fromthe end of the



0746

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

exhi bit.

A Al right.

Q | think it's ten pages.
A Is there a title to the page?
Q Yeah, it says on the -- at the top left, it

says Data Sources.
A Okay. Yes.

JUDGE MACE: This is Exhibit 655?

MR. BERRY: Yes, Attachnent -- Exhibit 655.

JUDGE MACE: Is it the attachment for
Techni cal Description of Regression Analysis?

THE WTNESS: Yes, it's at the back of that
attachment.

MR. BERRY: Yes, that's the exhibit, and --

JUDGE MACE: | see it

CHAl RWOVAN SHOWALTER:  Hol d on

JUDGE MACE: It has the nunber one at the
bottom It's --

CHAl RMOVAN SHOWALTER: This, by the way, is
why we pagi nate exhibits. It happens to be ny pet
peeve.

MR. KOPTA: Well, it should be directed at
me, instead of counsel for Verizon, so I'll take the
t ongue | ashi ng.

CHAI RWOVAN SHOMALTER: Oh, sorry about that.
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1 THE W TNESS: And to ne.
2 MR, BERRY: Greg, | was trying to be a

3 gent | eman.

4 MR. KOPTA: | appreciate that, Brad, as was
5 I
6 JUDGE MACE: All right. Has everybody found

7 the Data Sources page in Exhibit 655? Okay. Looks

8 like we're on the page.

9 MR. BERRY: Okay.

10 Q Let's go, Dr. Selwn, to the page -- page

11 four of Data Sources. And there -- actually, on page
12 -- it starts on page three. There you're listing the

13 sources of the data from which you cal cul ated the

14 non- | LEC nunbers in your regression analysis; right?
15 A Yes.

16 Q If we go over to the foll owing page, with
17 regard to Verizon, we see that their 10-Ks from 1999
18 t hrough 2002 are |isted.

19 JUDGE MACE: You're tal king now about

20 Veri zon Conmuni cations, Inc. on page four or sone

21 ot her --

22 MR. BERRY: Yes.

23 JUDGE MACE: Okay.

24 MR. BERRY: Verizon Comunications, Inc.

25 around the nmiddl e of page four
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Q And there we see second quarter 2002 10-Q
second quarter 2001 10-Q second quarter 2000 10-Q
and then we see Verizon New Jersey, Inc., and there
we see, for Verizon New Jersey, Inc., a 2002 10-K
2001 10-K, 2000 10-K, and 1999 10-K. Do you see
t hat ?

A Yes.

Q We al so see 10-Qs for Verizon New Jersey for
the second quarter of 2002, second quarter of 2001
and second quarter of 2000. Do you see that?

A | call attention to Footnote Five at the
bottom of page four

Q W were going to go there.

A. Ckay.

Q There you say, Verizon Comuni cations, Inc.
has 15 other |ILEC subs, and then you list them and
you say, Each affiliate filed its 10-K and 10-Q on

the sanme days as Verizon New Jersey. Do you see

t hat ?

A Yes.

Q And you know that because you reviewed them
right?

A. Yes. Well, ny analysts reviewed them yes.
Q You reviewed them -- he or she reviewed them

under your supervision; right?
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A Yes.

Q And you were satisfied -- well, strike that.
Now, would it surprise you, Dr. Selwn, to learn that
Verizon stopped filing 10-Q with regard to certain
of its subs in 20027

A. Yes. | nean, yes, |'maware of that, and in
fact, | think they may have stopped filing themwith
respect to others even earlier

Q Okay. So you were aware of the fact that
Verizon stopped filing 10-Ks and 10-Q for six of the
16 subs that you list sonmetine in 2002; right?

A | believe that's right.

Q Okay. |If that's the case, how do you neke
the statenent that each affiliate filed its 10-K and
10-Q on the sane days as Verizon New Jersey when you
have 10-Ks and 10-Qs for Verizon New Jersey |isted
for 2002, second quarter of 2002? How did you review
those if they didn't exist?

A. Well, 1 think, in an attenpt to conserve
paper, the analyst probably was a little
overabbreviated in his description. | suppose we
shoul d have listed all of them

Q This was the anal yst who made this ni stake?

A Yes.

Q And he was abbreviated in his description
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1 you say?

2 A Well, | know that he and | discussed the

3 fact that certain 10-Ks stopped being filed, and we
4 attenpted to nmake extrapol ations to account for that.

5 So he was aware of it and | was aware of it. And if

6 the footnote is nmisleading, | apologize.

7 Q Is the footnote m sl eading, Dr. Selwn?

8 A Wel |, apparently, it is, to the extent that
9 if it was -- if it is interpreted as inplying that

10 every one of the 15 affiliates filed 10-Ks or 10-Qs
11 on the date specified as Verizon New Jersey and sone

12 did not, then | guess it is m sleading.

13 Q Isn't that what it says, Dr. Selwn?
14 A. Well, fine. You got ne.
15 Q May | just have one nonent? | want to

16 return to the topic that we promised we'd return to
17 regarding the Virginia Arbitration O der, when we
18 wer e apparently di sagreei ng whether the Wreline
19 Conpetition Bureau had accepted Verizon's nunber.
20 And |1'd Iike to direct you to Exhibit 127, which is

21 the Virginia Arbitration Order, page 46, Paragraph

22 104.
23 COW SSI ONER OSHI E:  Paragraph 104, Counsel ?
24 MR. BERRY: Yes.

25 COW SSI ONER OSHI E: Thank you.
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1 THE WTNESS: | see it.

2 Q The FCC accepted Verizon's nunber; correct?
3 A But not its nethodol ogy.

4 Q Did the FCC accept Verizon's numnber?

5 A. It woul d appear that it did.

6 MR, BERRY: No further questions at this

7 tine.

8 JUDGE MACE: Dr. Gabel

9

10 EXAMI NATI ON

11 BY DR. GABEL:

12 Q Dr. Selwyn, 1'd just like to begin by a

13 foll ow-up question on the discussion you just had

14 regardi ng SBC and how the error of neasurenments m ght
15 have i nfluenced your regression analysis.

16 A Yes.

17 Q I"d like you to turn to Exhibit 651, Table
18 Two, at page 42.

19 CHAl RMOVAN SHOWALTER: Can you repeat that?
20 DR. GABEL: It's Exhibit 651, which is Dr.
21 Selwyn's direct testinony, page 42, Table Two.

22 THE WTNESS: | have it.

23 Q Al right. AmIl correct that, fromnote

24 two, that initially you had dummy vari ables for al

25 of the hol ding conmpani es, but only one was
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statistically significant, and that was SBC?

A Yes.

Q And coul d you explain what a statistically
significant dumry variable would indicate in this
type of regression?

A Well, it would indicate that there's
sonet hi ng anonal ous about that particular conmpany in
this case. 1In other words, that the SBC results were
inconsistent with the rest of the data in the nodel,
which, in fact, is certainly understandable if the
underlying data were incorrect.

Q Okay. Then, turning to page 45 of the sane
exhi bit, Table Four, you have dunmy vari abl es for
Qnest and Verizon, but no longer SBC. The error in
measur enent problemthat you discussed this
afternoon, would that sane problemexist with the
data that you used in Table Four?

A Yes.

Q G ven your famliarity with the data, do you
have any sense of why the SBC dumrmy was no | onger
statistically significant in Table Four, but it was
in Tabl e Two?

A | can't answer that in the abstract. You
know, these are conplex calculations that frequently

take on a |life of their own and you just see how t hey
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work out. It is interesting in this case that we had
-- in this case, the SBC was not significant,
Bel | South was not significant. It's really -- I'm
not sure -- I'mnot sure that you can necessarily
read any specific conclusion into this, nor, by the
way, can you read any specific conclusion into the
other -- | nean, certainly a data error of the type
that counsel identified is a possible explanation for
why the SBC dummy was significant, but it could wel
be significant even if the data were not in error

We just don't know until we run it.

Q Turning to page 49 of the same exhibit, at
line 23, you identify Sprint as an i ndependent
i nterexchange carrier. Do you see that?

A Yes.

Q Now, in the state of Washington, Sprint owns
| ocal exchanges. Wuld those |ocal exchanges be part
of the assets and part of the market val uation of
this conmpany that you identify at |ine 23?

A They woul d.

Q Okay. If -- 1 guess |I'mcurious why you
chose Sprint, since Sprint not only owns a | ong
di stance conpany, but al so owns | ocal exchange
conpani es. Wiy did you choose Sprint as the firm

that was representative of an i ndependent
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i nt erexchange carrier?

A Well, ny recollection is that WrldCom due
to its myriad of problenms, that betas were not being
reported for Worl dCom and so Worl dCom was not a
viable choice. And | don't recall why AT&T was not
included in that. There nmay have been a reason. In
any event, since the figure is close to one, it
woul dn't have mattered one way or the other

Q And why was that, Dr. Selwn?

A. Well, again, the goal of this analysis was
to identify, through the use of conparables, the
betas that woul d have been associated with the
non- | LEC conmponents of the Regional Bells for the
pur pose of extracting fromthe total parent conpany
beta the non-I1LEC conponent -- the |LEC conponent. |
woul d refer you to Paragraph 93 of the Virginia
Arbitration Oder, which | refer to in my testinony
at page 47. This is Exhibit 651. The comrent that |
guot e, which begins at |line one of that page, is
that, Since betas nay be thought of as a weighted --

JUDGE MACE: Dr. Selwyn, can you sl ow down,
pl ease?

THE WTNESS: |'msorry.

JUDGE MACE: Thank you.

THE W TNESS: Quote, Betas may be thought of
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as a wei ghted average of the betas for each |ine of
business in which they -- and they is referring to a
congl onerate conpany -- operate. So in effect, what
|'ve done is, picking up the cue fromthe Bureau's

| anguage, | undertook to extract the betas for the
non- 1 LEC conponents of the Regional Bells, |eaving ne
as a residual with the beta or estimte of the beta
for the ILEC conmponent.

Q In your analysis, Dr. Selwn, you |look at
pure unl evered | LEC data and you have, for exanple,
at page 53, you |look at Verizon, SBC, Bell South and
Qunest. Why did you not consider conpanies |ike
Citizens or Valor or Century, which are also I LECs,
to sone extent, who are obligated to provide
unbundl ed network el enents?

A Well, | felt that the -- again, the approach
that I used was not to identify the -- well, let ne
back up. The right-hand colum that says Pure |ILEC
Segnent is the cal cul ated nunber. In other words,
identified the wirel ess segnent, the broadband
segnment, the long distance segnment and the
i nternational segnent, and then associated a
conpar abl e beta with each of those and then
calcul ated the pure | LEC segnent.

So why | didn't include the others was that
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I was | ooking for conmpani es that were npost conparabl e
with Verizon, and those would be, in fact, the other
| LECs, you know -- | don't believe -- I"'mnot really
-- | don't know enough about sonme of the smaller

i ndependents to understand the full extent of their
busi ness rel ati onshi p, business structure. For
exanpl e, as you pointed out, Sprint is in both the

| ong di stance business and is in the | ocal exchange
busi ness. So | suppose | could have performed the
same analysis, but | confined it to the Regiona
Bel | .

Q Okay. Now, Dr. Selwn, I'd like to ask you
turn to Exhibit 657. This is your surrebutta
testi nony of May 12th.

A | have it.

Q Page 10.

A. | have it.

Q Al'l right. Here you have two firms that
sort of stand out, Qemest having a zero long-term
earni ngs growth, and you have AT&T having a negative
| ong-term earni ngs growt h of negative 13.8.

Now, earlier today, | was asking Dr
Vander Wei de about which firns you include and excl ude
froma sanple, and as | understood, he provided an

expl anation of why he excluded firns that had a zero



0757

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

or a negative earnings growth. | was wondering why
you chose to include two firnms that, as | understand,
woul d have been excluded from his sanple?

A Well, because nmy reading of the Virginia
order and of the Triennial Review Order is that we're
| ooking for telecomunications firns. And | happen
not to agree with Dr. VanderWide's rationale for
excl udi ng conpanies with zero or less than zero
grow h forecasts. H s explanation that, in effect,
the DCF woul d bl ow up or just doesn't produce
reasonabl e results under those circunstances is not,
inmy view, a sufficient reason, because, for
exanple, if the earnings growh were just a teeny bit
above zero, then he would have included it, but that
woul d have produced exactly the same kind of
anonal ous result, as he seened to be suggesting, as
if it was just under zero.

It seened to be an arbitrary position that
didn't nake any sense. | think we wanted to | ook at
the industry as a whole, and that's why | confined
the analysis to the industry as a whol e.

CHAI RAOMAN SHOWALTER: Can | ask a little
foll ow up question, because | realize | was going to
ask Dr. Vander Wi de about that fact. But if he also

excluded the bottomquartile and the top quartile,
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does that have the effect of also excluding the one
that's just a teeny bit over zero or not?

THE WTNESS: Well, that certainly has that
effect, but it also -- renmenber what he did was to --
first thing he did was to exclude financials. As |
understand it, first thing he did was to excl ude
financials. Then the next thing he did was to
excl ude conpani es that paid no dividends. Then the
next thing he did was to exclude conpanies that had
zero or negative growh. And | may have the sequence
wrong, but what we were left with is, by nmy count, is
| believe 104 conpani es that survived all of his
cuts.

CHAI RWOMAN SHOMALTER:  But |'m not sure you
mentioned the |ast one he did, which was exclude the
bottom quartile and the top quartile.

THE WTNESS: Well, | think he excluded the
bel ow zero ones before he excluded the bottom
quartile. That was ny point. So in other words,
before he even got to the quartile exclusions, he had
al ready gotten rid of the conpanies with negative
earni ngs forecasts.

CHAIl RWOMAN SHOWALTER: But | guess ny point
was, by excluding the bottom quartile, whenever he

excluded it, didn't he also -- or | don't know if
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1 it's bottomor top, but by excluding both those

2 quartiles, didn't he also then exclude the just over
3 zero conpani es?

4 THE W TNESS: GCh, okay. Apparently, yes.

5 CHAl RMOVAN SHOWALTER:  So isn't it

6 consistent with his idea that the DCF --

7 THE W TNESS: Well --
8 CHAl R\NOMAN SHOWALTER:  -- only really
9 applies in the nmiddle or only applies well in the

10 m ddl e?

11 THE WTNESS: Well, | don't know whether

12 it's consistent with or inconsistent. | mean, here's
13 the point. The Virginia Order requires -- has a

14 two-part requirement. It requires that the cost of
15 capital be set in relation to the risks associated

16 with tel econunications firns that are -- that

17 confront facilities-based conpetition. Now,

18 virtually all of the tel econmunications firms in the
19 S&P I ndustrials are in that bottom quarter that Dr.
20 Vander Wi de excl uded.

21 So it seened to nme that, you know, at a

22 m ni mum his very -- you know, one of his cuts

23 essentially was directly contrary to exactly what the
24 Bur eau had proposed, because we're really not

25 interested in -- | don't see how the specific
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prescription is satisfied when you excl ude

tel ecomruni cations firns and include all sorts of
unrel ated industries, because that doesn't teach us
anyt hi ng about the market conditions and the capita
attractiveness and ot her financial issues confronting
tel ecommuni cations firnms. And the excuse by saying,
Well, 1 excluded the bottom | excluded the top, and
in fact, that actually made the nunber |ower is,
quite frankly, conpletely off point and doesn't teach
anything at all.

The DCF is not a particularly good approach
to devel opi ng cost of capital to begin with for al
of the reasons that | describe in my exhibit, and the
fact that it doesn't work for tel ecommunications
firms by, apparently, by Dr. Vander Wi de's own
admi ssion, since he excluded all of them is all the
nore reason why it shouldn't be adopted.

CHAl RMOVAN SHOWALTER: | have sone fol |l ow up
questions, but | had interrupted Dr. Gabel's line, so
"1 wait.

JUDGE MACE: | wanted to call the
Conmi ssion's attention to the fact that it's alittle
after 5:00, and I wanted to find out what you want to
do in terns of going forward with Dr. Selwn

CHAI RWOVAN SHOWALTER: Keep goi ng.
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JUDGE MACE: Keep going. All right.

Q Dr. Selwyn, | want to make sure | understood
you correctly. Earlier today, in response to a
question from M. Berry, | understood you to say that
the Verizon Arbitration decision by the Wreline
Bureau of the FCC did not accept the notion of a
regul atory risk prem um adjustnent. Did | understand
you correctly?

A That is my understandi ng, yes.

Q Okay. Could you identify where in the order
-- and if you don't have it right at hand, we can
just take it as a bench request. Wuld you rather do
t hat ?

A. I'd rather do that, yeah, given the hour.

Q Okay. And even though -- despite the hour
I still sort of want -- | would like to end with the
same question that | posed to Dr. Shel ansk
yesterday. The Comm ssioners are faced with a | ot of
conplicated questions in a proceeding like this.
What type of guidance can you provide, just as an
overal |l perspective, on resolving the objective of
the act which pronotes price conpetition versus the
obj ective of the act of pronmoting facility-based
i nvestment? Any just general, but brief suggestions

on how to bal ance off what could be characterized as
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conflicting objectives?

A Well, | don't believe that the act can be
interpreted as pronoting facilities-based
conpetition. | think the act is agnostic as between
facilities-based conpetition, resale conpetition, or
UNE- based conpetition. It seeks to encourage
efficient conpetition, and that would inply that if
the UNE prices are properly set, then conpetition
shoul d devel op using entrant investnent in facilities
only where that would be nore efficient.

So for exanple, we would expect to see
entrants invest in the infrastructure to provide
services at retail, because they can do that w thout
suffering the -- the econoni es of scal e associ ated
with retailing tel ecommunications services are
nowhere near as substantial, for exanple, as the
econoni es of scale and scope associated with network
functions. So we can expect to see conpetition at
the retail |evel even where conpetition at the
network | evel is not necessarily possible.

What the act seeks to do is to encourage
conpetition by making avail able |ILEC network
resources where the ILEC is the nost efficient
producer. And even, for exanple, the Triennia

Review Order, in a portion of it which was not
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vacated by the D.C. Circuit, expressly recognizes
that, in the case of single residential and snall
busi ness mass market | oops, an inpairnment continues.

So now we have this -- alnpst a Catch 22
that the state conm ssions have been handed by the
FCC. The Catch 22 is that you are asked to nmake an
assunption about facilities-based conpetition for
UNEs, at the sane time and in the very sanme order
"' m speaking of the TRO in which the FCC al so
deci des that where there is facilities-based
conpetition, there is no inpairment.

So in other words, you're asked to assune a
condition that, by definition, if it existed, you
woul dn't have to assune because you woul dn't have to
get involved in setting rates for these el enents,
because the | LEC would not be required to provide
t hem as UNEs.

So what we're trying to do is to sinmulate
the cost conditions that exist under conpetition, and
that includes things like, in addition to network
costs, it also addresses, for exanple, risk. The --
an | LEC that has 90 plus, 95 percent plus of the nass
mar ket subscriber lines in an area, either at retai
or through UNEs or through whol esal e services,

confronts enormously |less risk and virtually none of
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this cancellable | ease risk that we've been hearing
so much about than, for exanple, a CLEC, which has to
construct a network and yet can only expect to serve
a very small fraction of the conmunity.

If a CLEC wants to go down a particular --
provide facilities-based services down a particular
street, CLEC has to put cable in place to serve
potentially any particul ar individual customer on
that street, even though only a relatively small
fraction of themw ||l ever take service. The |LEC,
on the other hand, is in a position to take pl ant
t hat probably costs al nbst the sane anount as the
CLEC has to spend and can expect to serve the
overwhel m ng share of the market in that
nei ghbor hood, which nmeans that the ILEC is not
confronting anywhere near the risk that the CLEC is
confronting.

The fact that the CLEC might confront a
hi gher cost of capital than an ILEC is exactly why
the act provides for UNEs where it is inpractical for
a CLECto acquire its own facilities.

So we shouldn't be | ooking at the cost of
capital that a CLEC would confront. W have to be
| ooking at the cost of capital that an |ILEC of the

scale, in this case, of Verizon, of an incunbent LEC,
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1 with 95 or nore percent share of the market,

2 confronts. And that is the correct way to do it.

3 It's consistent with the act, it's consistent with

4 efficient conpetition, and a lot of the intrinsic

5 ki nds of argunents that have been presented here

6 sinmply divert the Conm ssion from focusing on that

7 essential point.

8 DR. GABEL: Thank you. | have no further

9 guesti ons.

10

11 EXAMI NATI ON

12 BY CHAI RWOMAN SHOWALTER

13 Q | have a -- well, what | will call a

14 clarifying question, but what | really nmean is | want
15 toclarify in ny own mnd what approach you're taking
16 versus M. VanderWide. And |I'mnot |ooking for a
17 critique of his approach; | just want to see if ny
18 characterization is correct. It seens to me that he
19 starts, in determining cost of capital, with the
20 generic conmpany in a conpetitive environnent. And he
21 has a nmethod of doing that, which is those mddle
22 quartiles. And then he adds on a percentage to
23 reflect particular risks in a UNE-type conpany.
24 Al t hough, from his description, he -- that additur

25 coul d have been a negative had we been | ooking at
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sone ot her kind of conpany. But he's basically
starting in a conpetitive environnent and neki ng an
adj ust ment .

Now, it looks to nme as if what you are doing

is you start with the risk-free situation, kind of

the non-conpetitive situation, i.e., treasury bonds,
and then build up to account for risk. Is that
correct? Am | comparing -- am| at |east even

conmpari ng one approach to another that is trying to
achi eve the same answer?

A Sort of, but not precisely.

Q Okay.

A And let me -- and |I'mnot doing this by way
of critique, but I will try to describe ny
under st andi ng of what the discounted cash flow
approach that Dr. Vander Wi de supports attenpts to
do. It is not -- he is using generic firnms, the
m d-range of the S&P industrials, but the DCF nodel
st andi ng al one does not address risk as such

What it does is that it interprets the
mar ket price earnings relationship, narket
expectations of growmh and the price that custoners
are willing to pay for shares of the conpany's stock
as, in a sense, inferentially suggesting whatever

| evel of otherw se unquantified risk the market
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subsunes.

So in other words, you take the price of a
stock, whatever it happens to be, you look at its
earni ngs, you look at its earnings growh, that gives
you a yield level and a growth |evel, and whatever
| evel of risk the market has already factored into
the price of the stock is captured in the DCF, as he
does it, but there's no specific risk parameter, such
as a beta, that is involved.

What he then does is he then says, Well, now
we' ve done that, but now I'mgoing to sort of glue
onto it a unique risk that he seeks to ascribe to
i ncumbent LECs with respect to the provision of UNEs,
whi ch he describes as cancellable | eases. And then,
havi ng essentially used market -- the already
di scounted -- risk-discounted prices in devel oping
the DCF, he then tacks this on on top of it.

I would argue that that, for a |ot of
reasons, that's wong, if for no other reason --

Q But, actually, I"'mreally not interested in
that right now.

A Now, |et me describe --

Q I"mjust trying to get a characterization

Al right. Wat |'ve done is applied the

Capital Asset Pricing Mddel, which is the nethod that
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the Wreline Conpetition Bureau used. And | woul d
refer you specifically to Table Seven in Exhibit 251
at page 56, which is essentially a summary of what
I"ve done in conparison to what the Bureau did.

Q The Bureau, okay. Well, I'mlooking at an
even nore general |evel.

A I"'mreferring you to this in order to
respond to your question about how risk gets added
her e.

Q Al right. But can | just take this

guestion --
A Sur e.
Q -- to a much nore general |evel?
A. Ckay.
Q Is it generally the case that Dr.

Vander Wei de i s beginning with a generic conpany in a
conpetitive situation and then performng a coupl e of
operations on it, whereas you were beginning with a

risk-free situation and perform ng a couple of

operations on it? |Is that correct? |'mnot trying
to -- I"'mtrying to avoid the actual details of
things. 1'mjust trying to -- it seems to ne that

you're beginning fromdifferent starting points.
He's starting conpetitive and anal yzi ng t hat

situation, a totally different nethodol ogy, and you
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are starting in a risk-free situation and anal yzi ng
that, and having to then make an adjustnent for nore
risk. |Is that correct?

A Well, yes and no. And I'mnot trying to be
difficult, but yes, this Capital Asset Pricing Mde
starts with a risk-free return and then adds to it a
mar ket -wi de ri sk prem um assuni ng a narket-wi de beta
of one, which is the average risk for the market as a
whole. So in that sense, Dr. VanderWide and | are
doing the same thing. |In other words, he's | ooking
at the market for purposes of DCF; |'m |l ooking at the
mar ket for purposes of a market-w de risk.

Q So is it roughly comparable, by which |I mean
you can conpare -- his mddle two quartiles is

conparable to the stage of your adding in the beta of

one?

A Yes.

Q Okay.

A. That's at | east roughly conparable.

Q Okay. I'mjust trying to think of ways to
think about this. | nmean, |I'mnot even pretending

that they're the same operation. So you begin with
the risk-free, then beta of one, and then ask sone
guestions about how to adjust that in order to get an

accurate reflection of cost of capital?
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A. Ri ght, and there are two issues that I'm
| ooking at in nmeking that adjustnent. One is, to the
extent that a telecomrunications firm in particular
in this case, an RBOC, differs fromthe market
because the market includes firms in all kinds of
ot her industries that have no particular relationship
wi th tel econmuni cations, and then the second is, to
the extent that the tel ecomunications firmis itself
a congl onerate, only one portion of which is actually
an i ncunbent | ocal exchange carrier, which is al
that's relevant to being a provider of UNEs
confronting facilities-based conpetition.

I'm further disaggregating the risk
associated with a conglonerate to exclude the
non- 1 LEC portions of the congl onerate.

Q Al right.

A In fact, to take the portfolio apart.

Q Well, | was wondering, when you said it
seens wrong to have excluded all of the rel evant
t el ecomruni cati ons conpani es by -- when Dr.
Vander Wi de excl uded the bottom and top quartiles.
Is it also plausible that it's because the
t el ecommuni cations industry is not actually fully
conpetitive right now, or it's very lunpy, that that

is why the tel econmuni cati ons conpani es don't fal
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into the mddle two quartiles?

A Well, that is -- that, | believe, is his
argunent, and | disagree with it, and let nme explain
why. The Capital Asset Pricing Mddel, when we speak
of risk, and this also is the way the Bureau spoke of
risk in the Virginia Order, we're tal king about
sonmething referred to as systematic risk. Systematic
risk relates -- refers to the variation of a firns
earnings vis-a-vis the overall econony. So that, for
exanple, we're looking at the extent to which a firm
will respond in the event of changes in nmacroecononic
conditions |like, you know, a recession or a boom
period. That type of variation tends to be far nore
sensitive to, for exanple, the so-called inconme
elasticity of the product that a particul ar conpany
produces than to the | evel of conpetition.

In other words, a conmpany that is in the
busi ness of produci ng essential goods or services,
and the exanple | use in the testinony is a water
utility, will experience very little variation in
earni ngs based on variations in econom c conditions
general ly.

A conpany, on the other hand, that is in the

busi ness of producing very discretionary products or

services, for exanple, the travel industry or
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sonet hing of that nature, where -- |uxury goods

i ndustries, where people tend to cut back during
econoni ¢ sl owmdowns or are willing to spend

di sproportionately during boom periods, those will
tend to experience relatively high betas. That is
the principal source of variation in risk.

And what mny regression anal ysis
denonstrates, notw thstanding the errors that M.
Berry pointed out, | don't think it will affect it,
is that the extent of conpetition is not itself a
material factor in affecting systematic risk, and
it's systematic risk that we're tal ki ng about.

That's what the Bureau has suggested is the basis for
adj ust ment .

So tel ecomuni cations -- the
t el ecommuni cati ons services generally tend to be |ess
di scretionary than other services and, consequently,
are likely to exhibit relatively | ower betas.

Q And does the fact that a product is nore
like a compdity or less like a compdity affect
that? For exanple, you know, clothes are one thing
and electrons, | would say, would be at the comodity
end.

A | don't think so. | think it's nore --

| think, you know, the real issue is incone
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elasticity. 1In other words, how likely is sonmebody
-- will demand respond, demand for a product respond
to changes in incone. The products with high incone
elasticity will tend to be produced by -- the
conpani es that produce themw Il tend to have high
betas; conpanies with low incone elasticity, that is,
where demand remains fairly stable over broad ranges
of incone levels, will tend to have | ow betas.

That's the principal source of variation.

Q But is it a conpany that has |low elasticity
that matters or an industry?

A Well, it's some of both. Larger conpanies
are better able -- industry certainly matters. |
mean, in other words, there's no question that the
cruise industry or the resort industry or the trave
i ndustry are going to exhibit -- or capital goods
i ndustries, industrial machinery, products, conputer
industry, things like that, will exhibit greater
volatility with business cycle conditions. But even
within a particular industry, conpanies wll exhibit
di fferent degrees of variation. A conpany with a
dom nant market share, for exanple, even when faced
with conpetition, will still tend to have | ess
busi ness cycle variation than a snmaller conpany,

where a small change in denmand can have a very
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material inpact on its earnings.

For exanple, a small CLEC that has --
facilities-based CLEC that has a | ot of fixed costs,
a very small change in demand can have a profound
ef fect on earnings, whereas a |large |ILEC woul d not
exhibit the sanme type of earnings variation. So it's
a conbi nation of size and industry.

Dr. Vander Wei de, for exanple, pointed out
his belief that Verizon Wreless has a | ower beta --
woul d have, if it were separately traded, a | ower
beta than AT&T Wreless or Sprint PCS or Nextel. And
for the very sanme reason, we woul d expect a Regi ona
Bell, a large Regional Bell |ike Verizon, which is
like the 18th |argest conpany in ternms of market cap
anong the S&P 500, woul d experience a | ower degree of
systematic risk than a smaller conpany.

And to the extent that those factors affect
risk and al so affect the degree of efficiency with
which an ILEC can provide its services, they have to
be considered. And it would be wong and woul d
produce cross-subsidy if you inmputed to an |ILEC risk
conditions that were characteristic of much snaller
firms or firnms in different industries that had
nothing to do with tel ecom

Q And I'mfollowing this, and your discussion
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seens very rooted in reality, that is, there are big

conpani es and there are small CLECs. And how does

that square with the TRO, which seens, anyway, at

| east on first reading, to call for a fairly abstract

price-setting nmethodol ogy that sinply assunmes out in

the future sonewhere, for the purposes of the

nmet hodol ogy, that there just is this conplete

conpetition, which seens somewhat at odds with the

reality that you're tal king about?

A. Well, 1 think you have to read the TRO

conprehensively and not focus on one or two

par agraphs. And read conprehensively, in ternms of

criteria for determ ning whether or not inpairnent is

present, we have a situation -- first of all, I'm

trying to renenber whether it was in the TRO or in

the Virginia Order or maybe even both, but ny

recollection is there was an observati on at one point

that different UNEs -- maybe it was in the Virginia

Order. | will attenpt to find it and provide it.

The different UNEs or different services can

t hensel ves have different degrees of risk. And

don't believe that it is reasonable or appropriate to

assunme a uniformlevel of risk across all services.
The TRO sets out criteria under which |ILECs

will be required to provide UNEs and under which
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ILECs will not be required to provide UNEs. So we
start out by slicing off all of the segnents of the
| LEC s business in which the ILECis not required to
provi de UNEs. Obviously, those are the business --
those are the segnents of the business in which
conpetition is not only perhaps already here, but is
considered to have sonme |ikelihood of devel oping.

Then we have the segnents of the ILEC s
busi ness that -- for which inpairment continues to
apply. And in those cases, the ILEC, and | believe
I've cited a paragraph fromthe TRO to the effect
that the ILEC is the nost efficient producer of
certain services, in particular, loops. So you can't
-- while, at a theoretical level, what the TROis
asking you to do, and I'll even suggest correctly so,
is to consider the effects of conpetition. There is
no generic effect of conpetition, not even within the
tel ecomruni cations industry, |et alone across al
mar ket s.

What the FCC states, at Paragraph 90 in the
-- I"'msorry, the Bureau states at Paragraph 90 in
the Virginia Order is that, w thout any evidence to
suggest the difference between tel ecomruni cati ons and
the industrials as a whole, it will use -- it wll

assune a beta of one. But | read that as inviting
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evi dence to suggest otherwi se, and that's what |'ve
attenpted to do here.

And so we're | ooking at, nunber one, tel ecom
firms exhibit |ess systematic risk than the market as
a whole. Number two, ILECs exhibit |ess systematic
risk than their parent RBOCs. Nunber three, the
segnments of the ILEC that are providing those
services that are continued to be required to be

provi ded as UNEs exhibit less risk than even the ILEC

overall. And that's not to say there's no risk.
There is risk. |1'mnot suggesting otherw se, and
think that, fully consistent with -- that you can and

shoul d make a determ nation as to how nuch that risk
is associated with conpetition realistically, as it
affects that segnent of the ILEC s business in which
it continues to be obligated to provide UNEs, and
that you meke an adjustnment to the cost of capita
for that purpose.

But to sort of take these broad -- assune,
you know, the conglonmerate -- taking the congl onerate
BOC and letting its rmuch riskier businesses drive the
cost of capital for UNEs, that's pure cross-subsidy.
You' re basically forcing the nonopoly el enent to pay
nore so that the conpetitive conponents of a conpany

can pay less. That's an absolute cross-subsidy, and
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you have to disaggregate cost of capital between
conpetitive and nonopoly segnents, notw thstanding
the fact that you need to address what the FCC is
asking you to do, and that is to recognize the risks
associated with facilities-based conpetition for
UNEs.
But recognize, also, that there is that

Catch 22, because if there really is facilities-based
conpetition, there's no UNE

Q Al right. But however you have scoped it
down in your answer or your discussion just now, do
you agree that we are supposed to set prices for sone
subset of the universe as if there is ful
conpetition? | nean, | keep hearing in your answers
that we're supposed to | ook at how nuch there really
is or how much risk there really is, but then | | ook
at this TRO sentence that seens to suggest otherw se.

A Well, | nean, there are degrees of
conpetition in markets, ranging from you know,
cutthroat conpetition, where there are a whol e bunch
of firms doing the same thing, let's take the
wireless industry for the noment. | nean, wreless
tel ecom even the |largest wireless carrier, which for
the nmonent is Verizon, still only has about a 35

percent share. |In other industries, in the fast food
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i ndustries, one of the ones that | had cited,
obviously a trenmendous anount of conpetition, and yet
all of those conpani es have betas well bel ow one.

So we have to look at -- there is no such
thing as conpetition as a generic matter. It's al
relative. The issue here, actually, that you're
confronted with and that the FCC is getting at sort
of goes to this point that -- | believe Dr.
Vander Wi de rai sed several points, and perhaps
correctly so. You have -- under the TELRIC rules,
you' re supposed to reprice based upon forward-| ooking
cost conditions.

So sitting here today, we | ook at the cost
conditions as they presently exist and investnments
that are made and they're going to have a certain
life and you go through all the cost nodels or
what ever and you crank out a nunber. And now, cone
back three years from now and we take anot her | ook
and perhaps sone of those conditions have changed.
Maybe some costs have gone up, maybe sone costs have
gone down. Well, he's hypothesizing the possibility
the costs have gone down.

And obviously, if you set a rate based on
the assunption that you're going to recover costs

over a l1l7-year period and, in fact, three years |later



0780

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

you have to reduce the rate because, on a prospective
basis, the costs have gone down, then that creates
the possibility that the conpany will not be able to
earn a return on its investnent. That's sort of the
preni se.

Now, how do you address that problem Well
one way to address it is to suggest that the issue
relates to depreciation, nore so -- depreciation
rates more so than cost of capital. |If there are
realistic prospects, you can make technol ogy and cost
trend forecasts that show costs will be going down in
the future, that can be addressed through neans.
That's not a risk issue at all, actually; that's an
obsol escence issue that can be addressed through sone
ot her process.

But there are countervailing factors, as
well. The copper, the sane copper that is being
installed today and is being used for purposes of
these cost nodels, the cost of that copper that's
bei ng used to price out UNEs can al so be used to
provi de other services in the future. Broadband
services, if we were -- for exanple, if we were here
a dozen years ago and soneone suggested you coul d get
si x megahertz of bandwi dth on a copper |oop, they

woul d have thought you were crazy, and yet the phone
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conpani es are now doing that with DSL-type offerings.
And | understand that there are even now sone trials
to send video signals over copper pairs.

So copper may have a lot nore life, and the
prospect of having copper go down, the cost of copper
go down or the cost of alternates to copper go down
has to be offset with the prospect of increasing
demand. There are a lot of factors involved.

The notion that, you know, taking all of
this into consideration, the very kinds of
diversification that Dr. Vander Wi de suggested nade
Verizon Wreless less risky than stand-al one wirel ess
conpani es, also neans that an RBOC, even facing
facilities-based conpetition, is less risky because
it has nore reuse opportunities, not only within the
same service, but also to reuse that sane plant for
ot her purposes and to introduce new services in the
future. By the way, nost of which it will not be
required to provi de as UNEs.

Q When we're looking at an ILECin a
conpetitive situation, does that situation include
the wireless and cable worlds that -- | don't know if
that -- if that concept even translates to sonething
nunerical, but does the nmeaning a conpetitive

envi ronnent include internodal conpetition?
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A I don't think it does, for this reason, for
a couple of reasons. First of all, in the case of
TRO itsel f, the Conmi ssion, the FCC, basically did
not indicate that it would consider internodal
conpetition as a denonstration of noninpairnent, for
the nost part. So we already -- that's still al nost
of f the table.

Al so, internmodal conpetition, to the extent
it is present, affects retail services at |east as
much, if not potentially nore, than it affects UNEs.
The risk, in a lot of ways, the risk of cancellation
is greater for retail services than it is for UNEs,
and | can explain why, if you' d like, but the -- |
think that's an issue that m ght cone up perhaps in a
general rate case, where you're | ooking at the
overall cost of capital, the overall cost conditions
affecting the conpany. | don't see it --

Q VWhy woul dn't it be relevant, when you're
t hi nki ng about a network, the land |ine network of
which there nust be UNEs, why wouldn't it be relevant
that, say, land line, as a share of the whole pie, is
shrinking, if it is?

That is, if you consider cable and wi rel ess
a threat to the share of all of land |line, then why

doesn't that affect the judgnents that we're naking,
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either in nodels or risks or otherw se, because it

m ght increase the risk that some part of the network
that is built will not get used, just as a CLEC m ght
not | ease and mght build own facility instead, maybe
custoners, end use custoners, will |eave the | and
line network and go over to wireless, and neither the
| LEC nor the CLEC will be providing land |ine?

A Well, to the extent that such risks are
perceived by the capital markets to prevail, to
apply, they would already be captured, either in the
DCF or in the CAPM In other words, they would be
captured in forecasts, they would be captured in
betas applicable to tel ecomruni cations firns, they
woul d be captured in price earnings ratios. They
woul d al ready be there.

So whether or not we're using the CAPM or
di scounted cash flow, if used properly, the risks
that the market currently perceives applicable to
i nternodal conpetition would be captured. In
addition, you also have to renenber, and this goes to
Dr. Vander Wei de' s poi nt about diversification,
Verizon, as | mentioned, Verizon has 35 percent share
of the wireless market, so when Verizon | oses a |and
line to -- outright loses a land line custoner to a

wireline customer, it probably has at |east a 35



0784

1 percent chance of picking up that custoner inits

2 wireless affiliate. It's also able to use its

3 network to of fer new services that weren't even

4 contenpl at ed when the network was first constructed,
5 such as DSL or potentially even video services.

6 Al'l of these factors have to be counted.

7 You can't just sort of narrowy | ook and say, Oh,

8 wel |, you know, a land line that goes away is gone.

9 A lot of the land lines that have gone away, if we

10 | ook at just retail end user access |line statistics,
11 have been replaced by DSL, which is, in fact, for the
12 nost part, a non-regul ated service. So you have -- a
13 customer has two access |ines, one of which they

14 traditionally use for the Internet. They get rid of
15 the second one, get a DSL |line. The reported

16 statistics suggest that the |ine went away, but the

17 revenue fromthat line sinply went below the line to

18 DSL, and the conpany still keeps it.
19 Q Okay.
20 A You have to | ook at the stuff

21 conprehensively. You can't just say |'mgoing to
22 | ook at internodal conpetition w thout considering
23 all of these offsetting factors.

24 CHAI RWOVAN SHOWALTER:  Thank you.

25 JUDGE MACE: Conmi ssioner Henstad.
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COW SSI ONER HEMSTAD: | have no questi ons.
JUDGE MACE: Commi ssi oner Gshi e.
COW SSI ONER OSHI E: | have no questi ons.
JUDGE MACE: M. Berry.

MR. BERRY: No questions, Your Honor

JUDGE MACE: M. Kopt a.

REDI RECT EXAMI NATI ON
BY MR KOPTA:

Q | have just one for you, Dr. Selwn. Do you
recall a discussion with Dr. Gabel with reference to
page 45 of Exhibit 651-T, your Table Four, and the
i mpact of the errors in the SBC data?

A Yes.

Q And as | recall your discussion with him
you testified that the calculations that go into
creating this table were too conplex to determ ne how
that error would play out. 1Is that correct?

A. Well, as to the specific question that he
asked nme, which related to the dumy vari abl es.

Q Right. Yet, in discussing with M. Berry
Exhi bit 655, the table that he had shown to you the
data underlying Appendi x One, you discussed with him
what the inpacts of the change in the erroneous data

would result. Do you recall that?
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A Yes.

Q Woul d you explain why you had a different
response to Dr. Gabel than you had to M. Berry?

A Yes. Dr. Gabel's question was a very
techni cal question, which related to a vari abl e,
so-call ed dumy variables, which are used in
regressi on nodels for the purpose of identifying and
capturing conditions that do not directly relate to
t he hypot hesi zed rel ati onship, but that rather may
result from other conditions.

So for exanple, we assignh separate dumy
variables to all but one of the Bells of the
i ndi vidual Bell conpanies for the express purpose of
capturing sonmething, if there may be sonme attribute
of one conpany that is unique that the regression
analysis would then identify and sort of separate out
fromthe principal purpose of the analysis.

The issue that | was discussing with M.
Berry and why | expressed the opinion that the
correction would actually inprove the regression
results is that, if you notice -- renenber, the
hypot hesis we were testing is that the principa
source of the increase in beta was the percentage of
non-| LEC assets. And the -- which, in fact, the

nodel estinmated devel oped a coefficient for and
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determ ned was statistically significant, as |I've
i ndi cat ed.

If you look at, for exanple, the figures for
Bel | Sout h, where we have betas in the range of .8,
.8, .8 -- you know, .8, .7, and we see non-I|LEC
percentages in the 40 percent range, going actually
down to 36 percent range, and sinmlarly we see the
betas all staying in roughly that sane range, that
woul d suggest, as |'ve indicated, that relatively | ow
non- 1 LEC woul d not have that big an inpact on overal
risk. W go nowto Qnest, where we have -- we
started out with -- the first figure's actually a US
West figure, before the nmerger, 14 percent non-LEC
and a beta of .75, and then, as soon as the nerger
takes place, the non-ILEC share junps up into the
hi gh sixties and beta junps up into the 1.5, 1.6
range.

For SBC, we were | ooking at sone very high
nunbers when -- before the error was di scovered, and
yet we had relatively |ow betas, which is sort of
i nconsi stent with the hypothesis. So correcting the
per cent ages now produces a result that, by
i nspection, is pretty consistent with the sanme
results for Bell South and what | woul d have expected

t o happen.
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1 And therefore, | think that the nodel wll

2 -- the nodel results would be better and woul d be

3 nore robust sinply because now |I'm seei ng betas that
4 are consistent with the percent non-LEC that | would
5 expect. Simlarly, Verizon, we have somewhat hi gher
6 beta and the percent non-LEC going from 31 percent to
7 up in the close to 45 percent, and we see a junp in

8 the beta in that situation. That was the basis for

9 my opinion. GObviously, this is sonething that can be
10 addressed mathematically if we're able to find sone
11 source of the Ameritech and SNET data. It's not in
12 the 10-K, but if we can find some alternate source

13 for it and meke the appropriate adjustnments, | think

14 we can inprove this result.

15 MR. KOPTA: Thank you. That's all | have.
16 JUDGE MACE: M. Berry.
17 MR. BERRY: Nothing nmore for this w tness,

18 Your Honor, but we would, given the opinion that Dr
19 Sel wn has expressed twi ce now, that correcting the
20 errors would actually inprove his analysis, Verizon
21 woul d request the opportunity to recall Dr.

22 Vander Wi de, who tells ne that he can abide by the

23 five-minute rule to address this one subject. And so
24 we' d request the opportunity to do that, but we don't

25 have any nore questions for Dr. Selwyn.
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1 JUDGE MACE: Well, before we turn to that

2 topic, | just want to do one housekeeping thing. You
3 presented sonme cross exhibits for Dr. Selwyn.

4 They' re nunbered 658 through 664. Do you offer those

5 in evidence?
6 MR. BERRY: W do, Your Honor
7 JUDGE MACE: |s there any objection to the

8 admi ssion of Proposed Exhibits 658 through 6647

9 MR. KOPTA: No objection

10 JUDGE MACE: Thank you.

11 MR. BERRY: Thank you, Your Honor

12 JUDGE MACE: Thank you. Dr. Selwn, you're

13 excused. Thank you very nuch.

14 THE W TNESS: Thank you.

15 CHAl RMOVAN SHOMALTER: Was there any

16 obj ection?

17 JUDGE MACE: Good point. Is there any

18 obj ection to this proposal ?

19 MR. KOPTA: Well, 1'd like to know the basis
20 of why Dr. VanderWei de would testify regarding this
21 particular error, this particular analysis. | don't
22 beli eve he addressed this in his testinony and

23 don't see how bringing himup nowto address this
24 subj ect that he hasn't addressed before woul d be

25 appropri ate.
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1 CHAl RMOVAN SHOWALTER: Well, |'ve got a

2 question on this. 1In effect, it's -- M. Selwn has
3 revised his testinony by conceding that sonme of the
4 figures were wong and then further stating that, if
5 corrected, it would further support his thesis. |

6 wondered at the time whether we might just ask for a
7 revised table, an exhibit. That's what we often do.
8 Then | sort of wondered whether that affects nany

9 little figures throughout the testimny, so | didn't

10 suggest it.

11 But that's one possibility, just let's --
12 i nstead of having Dr. Selwn sort of speculate in an
13 i nfornmed way and Dr. Vander Wi de specul ate al so an
14 i nformed way, doesn't a revised exhibit just answer

15 the questions, and then, if there was any need for

16 Verizon to respond to that revised table for sone

17 reason, that would be fine. W'd, you know, give a
18 coupl e days.

19 I was going to ask Dr. Selwn, well, how

20 long would it take you to do the revised table if you
21 got the data to do it correctly. And you might be

22 di scussi ng anong yoursel ves whet her you have an

23 objection to this method or not.

24 DR. SELWYN: In answer to your question

25 Your Honor, to run the regression would take very
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little time. M only concern is the data sources
that we woul d need. W can get Aneritech and SNET
data from FCC sources, but those are not strictly
conparable to the financial reporting because of
differences in asset reporting for regulatory

pur poses and for financial purposes. However, we may
be able to nake adjustnents and cone up with sone

approxi mation that would allow us to performit. |

believe that it could be done fairly -- either -- if
it can be done at all, it can be done fairly quickly,
and | will discuss it with ny staff and see if we

can't get it done quickly and provide it to you by
the first of the week

CHAl RWOMVAN SHOWALTER:  Well, then, is
another way to handle this is to let Dr. Vander Wi de
give his equally inforned specul ati on on what a
correction would do, in the event that there m ght
not be a correction, and so, in a way, he'd be on an
even plane then. |[If there is a correction, it cones
in, and if anything else needs to be said about it,
it could, but at that point | would think we'd be
able to see for ourselves.

MR. KOPTA: | think that's a reasonable
proposition. | think it nmakes sense to try and

correct it if we can and then give Verizon an
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1 opportunity to respond. Since Dr. Selwn's unclear
2 about whether he will be able to do that, then |

3 suppose it's only fair to allow Dr. VanderWide to
4 have his say.

5 CHAl RWOMAN SHOWALTER:  And it's only going
6 to take five mnutes.

7 JUDGE MACE: Dr. VanderWide, you've already
8 been sworn in. Wuld you just come back to the

9 witness stand?

10 Wher eupon,

11 DR. JAMES H. VANDERVEI DE,

12 havi ng been previously sworn by Judge Mace, was

13 recall ed as a witness herein and was exam ned and

14 testified as foll ows:

15 THE W TNESS: Should | begi n?

16 MR, BERRY: |'I|l pose a question.

17 JUDGE MACE: Co ahead.

18

19 REDI RECT EXAMI NATI ON

20 BY MR BERRY:

21 Q Dr. Vander Wei de, you heard Dr. Selwn's
22 testinony to the effect that if he corrected the
23 errors in his regression analysis, that it would
24 produce results that are still consistent with his

25 premi se. Did you hear that?
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Yes, | did.
Do you agree or disagree with that?
| strongly disagree.

Coul d you expl ain why?

> o » O >

Yes. In a regression analysis, one gets a
positive effect if an increase in one variable causes
an increase in another variable. |In this case, we
see, |l ooking at the data underlying Appendi x One,
which it's kind of hard to explain, because it's not
on a page.

CHAl RAOMAN SHOWALTER: This is in Exhibit
6557

THE WTNESS: Yes, and it's Attachment Four

JUDGE MACE: It's the sanme chart that was --

THE W TNESS: Yes.

JUDGE MACE: ~-- up on the easel?

THE WTNESS: Yes. And we see that there
was an increase from.39 in the non-ILEC asset in
1HOO to .6328 in 1H03. And likew se, there was an
increase in the beta from.825 in 1HO0 to .975 in
1HO03. So because that increase in the non-|1LEC asset
was associated with a conparable increase in the
beta, it | ooked, in the regression, |ike the non-ILEC
-- the increase in the non-ILEC asset caused --

caused the increase in the beta. However, the
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increase in the non-1LEC asset was due to an error in
t he data.

So if the non-ILEC asset stayed constant
over this period of tine, then you woul d have no
i ncrease in the non-1LEC asset associated with an
increase in the beta, and we could not say that the
non -- an increase in the non-|1LEC asset caused an
increase in the beta, because there was no increase
in the non-ILEC asset.

Li kewi se, with regard to Bell South, we see
that the non-|LEC asset went from .47 in 1HOO to .36
in 1H03. So that was a decrease, and yet we see that
beta went up from.825 to .900. So we have a
decrease in the non-ILEC asset associated with an
i ncrease in beta, which disproves the theory. That
is, an increase in the non-|1LEC asset or the -- which
is the opposite, an increase in the -- a decrease in
t he non-1LEC asset shoul d have caused a decrease in
the beta, and in fact, the decrease in the non-I|LEC
asset caused an increase in the beta.

So there's absolutely no doubt, it's just a
matter of regression analysis, that if the non-ILEC
asset doesn't increase, or if it increases |ess, at
the sane tinme that the beta increases, you will get a

| oner effect of the non-ILEC asset as an expl anatory
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variable. That is just plain and sinple regression
analysis, and it's just incontrovertible.

CHAl RMOMAN SHOWALTER:  All right. Well,
then, why don't we get -- have a bench request of
getting the revised information fromAT&T. It would
be a revised table under this exhibit or corrected
tabl e under this exhibit. And that was Exhibit 655.
And let us know if you can't produce it.

THE WTNESS: Well, one difficulty is that
there are no reported data for Anmeritech or SNET.

CHAl RMOVAN SHOWALTER: | see.

THE W TNESS: So one just can't correct the
data, because they didn't report. SBC did not report
separate assets for RB -- for Ameritech or SNET. So
one can't easily correct this data.

CHAI RWOVAN SHOWALTER:  Wel |, that may turn
out to be the answer, but | think we have qualitative
-- we have a qualitative discussion at the nonent and
perhaps there will be a quantitative bit of evidence
com ng in.

JUDGE MACE: Dr. Gabel has asked if he could

ask a question.

EXAMI NATI ON

BY DR. GABEL:
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Q Just in case this exhibit cannot be
corrected, and | understand that it's a request not
only to correct Appendix One, but the associated
regressi ons, and when that's done, there's a ful
expl anati on about how the data was created, since
there is a question about the availability of data
for SNET and Aneritech

But turning to the actual regression
anal ysis and Table Two that | asked Dr. Selwn about,
here we have a negative --

CHAl RAOMAN SHOWALTER:  Which Table Two is
this?

DR. GABEL: |'m sorry, page 42 of Exhibit
651.

Q Do you have that table before you, sir?

A Yes, | do.

Q Now, you see that the SBC dumry has a

negati ve coefficient value; is that correct?

A Yes.
Q And am | correct in my understanding that a
dummy vari able says, Well, if you take into account

the other variables, facility-based conpetition
percent non-LEC and | everage, there's sonething el se
going on with SBC that | owers the dunmy by negative

. 267
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A Yes.

Q Yes. And I'd |ike to have your explanation
of -- doesn't that nmean that, all else -- well, let
me see. |'d like you to tell nme if ny

understanding's correct. Doesn't that indicate, al

el se equal, you woul d have expected SBC to be higher
by 2.6, that is, the beta would be higher by .26, but
it was | ower than was anticipated, given the val ue of
the other explanatory variables? Wuld you like nme
to restate that?

A | believe | understand it. As Dr. Selwn
correctly explained, there are a | ot of conplex
interactions going on and it's difficult to nmake a
si npl e statenent about that. What the dunmy variabl e
tells you about is not, however, the slope of the
regression; it tells you only information about the
intercepts. And so all this -- all it would say is
that the constant termwould differ between the two,
but it doesn't say anything about the regression
coefficient, that is, the effect of the non-ILEC on
the beta. It just says that the whole curve would
move up or down, but it doesn't say anything about
the slope of the curve. And the effect that he's
tal king about, that is, the effect of

facilities-based on the beta only has sonething to do
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about the sl ope.

So | don't think that whether that SBC dummy
is significant or not would have any inpact on the
rel ati onship between -- on the coefficient that we're
interested in, that's the coefficient for the
facilities-based -- | nean, the coefficient for the
percent of non-I|LEC

Q Let me ask you just one followup topic.
Are you famliar with the termerrors in measurenent
in regression analysis?

A Yes, | am

Q Al right. If there is an error in
measurenent, do you know if that biases all the other
paraneter estimtes?

A Yes, it does.

DR. GABEL: Thank you.

JUDGE MACE: Anything else for Dr.
Vander Wei de? Thank you. It appears that we have
finished with Dr. Selwn, we've finished with Dr.
Vander Wei de, and we will adjourn until tonorrow
nor ni ng at 9: 30.

CHAl RMOVAN SHOWALTER: Did we give that
bench request a numnber?

JUDGE MACE: That woul d be Bench Request

Nunber Two, actually. The first one has to do with
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1 the nodel regarding the risk premium and the second
2 one has to do with the revised table for Dr. Selwyn.
3 CHAl RAMOVAN SHOWALTER: Didn't David Gabel

4 originally have a bench request?

5 JUDGE MACE: That was the nodel regarding
6 the risk prem um

7 MR. KOPTA: Excuse me, Your Honor, but |

8 have in my notes that Dr. Gabel's -- or the bench

9 request was where in the Virginia Arbitration Order
10 the --

11 JUDGE MACE: He did nake a request for that,
12 but we got that information on the record, so |

13 cancel l ed that out as a bench request, because that

14 was -- that's been expl ai ned.

15 MR. KOPTA: | think it was a different one.
16 JUDGE MACE: |'msorry. Yeah, | think

17 you're right. | recall now. W did get some

18 i nformati on, but that wasn't it. It had to do with

19 where in the Virginia Arbitration Order does the

20 W rel ess Conpetition Bureau reject the risk prem um
21 CHAl RWOVAN SHOWALTER:  That's numnber two.

22 JUDGE MACE: So it's number three that is
23 the bench request for the table.

24 MR, KOPTA: And as Dr. Gabel pointed out, it

25 woul d be rmultiple tables, since he was questioning
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about those in the testinony, as well.

JUDGE MACE: Correct. That's ny
under st andi ng.

MR. KOPTA: Okay.

JUDGE MACE: All right. W' re adjourned
until 9:30 tonorrow norning.

(Proceedi ngs adjourned at 6:02 p.m)



